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Exam Date 22/11/2021
Exam Time : 9:00 AM - 10:30 AM
Subject Constable GD 2021

Section : Part A General Intelligence and Reasoning

Q.1 Select the option that is related to the third word in the same way as the second word
is related to the first word.

Bee: Buzz::Hen:?
Ans X 1. Chirp

& 2. Cluck

X 3.Bellow

X 4.Squeak

Status : Answered

Chosen Option : 2

Q.2 In acertain code language, 'RAJU' is written as 'WFOZ' and 'SITA" is written as 'XNYF".
How will 'MONU' be written in that language?

Ans o 1.RTSZ
X 2.UTRZ
X 3.SRSY
X 4. TRSX

Status : Answered

Chosen Option : 1

Q.3 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

N_ K _TNOK_ T__ DT

Ans «* 1.ODDNOK

X 2.KDDNOK

X 3.0DKNOK

X 40ONDNOK

Ol 1 .

Questiontb-65497834741
Status : Answered

Chosen Option : 1
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Q.4 In the following Venn diagram, the triangle represents ‘tall’, the circle represents *black eyes’, the rectangle represents
‘brown hair’, and the square represents ‘boys’. Which of the following letters represents tall boys with black eyes but

NOT brown hair?

Ans 1 C
X2 F
X3 D
X4 G

Question ID : 65497834700

Status : Answered

Chosen Option : 1

Q.5 Select the correct mirror image of the given combination when the mirror is placed at 'XX' as shown.

X

AHKRQP

X

Ans 1. JOHNHY
2 9OHIHA
2 9DANHA
4 90HAHA

Question ID : 65497834704

Status : Answered

Chosen Option : 3
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Q.6 Select the figure from among the given options that can replace the question mark (?) in the following series.

Ans

v o |B—

Question ID : 65497834713

Status : Answered

Chosen Option : 4

Q.7  Acube is made by folding the given sheet. In the cube so formed, which pair of letters will NOT be on the opposite
faces?

=
o[z[x[x]

Ans X1 KandN
¢ 2 Oand M
X3 Land M
X4 Pand O

Question ID : 65497834692

Status : Answered

Chosen Option : 2
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Q-8 Select the option in which the given figure is embedded (rotation is NOT allowed).

h
x@

Ans

Question ID : 65497834693
Status : Answered
Chosen Option : 3

Q.9 Study the given pattern carefully and select the number that can replace the question
mark (?)in it.

34387
46385
847?15

Ans X 1.83
X278
o 3.87
X 4.38

Question ID : 65497834707
Status : Not Answered
Chosen Option : --

Q.10 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans X 1. BEHK
" 2.HLOR
X 3.PSVY
X 4.KNQT

Question ID : 65497834701
Status : Answered
Chosen Option : 2
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Ans

Ans

Ans

Ans

X 1.20
X 2.18
o 3.22
X 4.24

345, 334, 320, 303, 283, 260, ?

X 1.221
X 2.212
X 3.208
o 4.234

Q.13 Select the option that is related to the fourth number in the same way as the first

Q.11 In acertain code language, ‘DICTIONARY’ is coded as ‘20’ and ‘MOBILITY’ is coded as
“16’. How will ‘TERMINATION’ be coded in that language?

Question ID : 65497834702
Status : Not Answered
Chosen Option : --

Q.12 Select the number from among the given options that can replace the question mark
(?) in the following series.

Question ID : 65497834712
Status : Answered
Chosen Option : 4

number is related to the second number and the fifth number is related to the sixth

number.
64:4::?:6::100:5
X 1.108
X 2.188
X 3.228
o 4.144

Question ID : 65497834690
Status : Answered
Chosen Option : 1

Q.14 Eight friends, P, Q, R, S, T, U, V and W, are watching a movie sitting in a line. T is sitting

at one of the corners. Q is sitting between W and R. V is sitting between S and U. W is
sitting to the immediate right of T. R is sitting to the immediate left of P. There are two

persons between P and U. Who is sitting at the other corner?

W LU
X 2P
X 3R
X as

Question ID : 65497834689
Status : Not Answered
Chosen Option : --
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Ans

Ans

Ans

following figures. How would this paper look when unfolded?
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Q.16 Select the correct option that indicates the arrangement of the given words in the

order in which they appear in an English dictionary.

1. Durable
2. Duty

3. Dubious
4. Duster
5. Dustbin

X 1.35/1,4,2
X 2.1,3,54,2
< 331,452
W 4.3,1,54,2

written in that language?
«” 1. CELRSTU

X 2.CLESRUT
X 3.LUCETRS
X 4.LCUTESR

Q.15 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the

Question ID : 65497834709
Status : Answered
Chosen Option : 1

Question ID : 65497834710
Status : Answered
Chosen Option : 1

Q.17 In a certain code language, ‘LEMON’ is written as ‘ELMNO’. How will ‘CLUSTER’ be

Question ID : 65497834705
Status : Answered
Chosen Option : 4
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Q.18 Select the option that is related to the third letter-cluster in the same way as the
second letter-cluster is related to the first letter-cluster.

DKLH: GPSQ:: FRLP: ?
Ans ¢ 1.IWSY

X 2. JWRY

X 3.Jwsy

X 4.\WRZ

Question ID : 65497834694
Status : Answered
Chosen Option : 1

Q.19 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
All enzymes are vitamins.
All vitamins are carbohydrates.

Conclusions:
I. All enzymes are carbohydrates.
II. No enzyme is a carbohydrate.

Ans X 1. Both conclusions | and Il follow
X 2. Either conclusion | or Il follows
X 3. 0nly conclusion Il follows

«” 4. Only conclusion | follows

Question ID : 65497834706
Status : Answered
Chosen Option : 4

Q.20 There are six persons, M, N, P, Q, R and S, in a family. S is the paternal grandmother of
M. P is the sister of R. N is the father of P. M is the only son of Q and R. N does not
have any married daughter. How is M related to N?

Ans X 1. Father
X 2. Brother
" 3. Grandson
X 4.Son

Question ID : 65497834696
Status : Answered
Chosen Option : 3

Q.21 Which two signs should be interchanged to make the given equation correct?
5-24+17%x16+4=133
Ans X 1.+and~+
& 2. xand -
X 3.xand -+
X 4.+ and x

Question ID : 65497834691
Status : Answered
Chosen Option : 2
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Q.22 Select the number from among the given options that can replace the question mark
(?) in the following series.

4,5, 18, 19, 68, 69, ?
Ans X 1.256
X 2.250
o 3.262
X 4.266

Question ID : 65497834703
Status : Not Answered
Chosen Option : --

Q.23 A fruit shop consists of only two types of fruits namely oranges and mangoes. The
number of oranges is three times the number of mangoes. Which of the following
numbers CANNOT represent the total number of fruits in the shop?

Ans X 1.44
o 2.42
X 3.48
X 4.40

Question ID : 65497834708
Status : Answered
Chosen Option : 2

Q.24 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

PEA, SJH, VOO, YTV, ?
Ans X 1.YBC
X 2.cvB
« 3.BYC
X 4.CBY

Question ID : 65497834697
Status : Answered
Chosen Option : 3

Q.25 Five friends, Bhumika, Rashi, Shweta, Vibha and Arunima, are sitting in arow facing
east. Bhumikais sitting between Vibha and Shweta. Rashi is second to the left of
Shweta. Who is sitting at the south end?

Ans X 1.Arunima
X 2.Rashi
X 3. Shweta
& 4.Vibha

Question ID : 65497834699
Status : Answered
Chosen Option : 2

Section : Part B General Knolwedge and General Awareness

Exampapers 247



Q.1 In which year did Motilal Nehru chair the committee to prepare the Constitution of
India?

Ans X 1.1944
o 2.1928
X 3.1934
X 4.1939

Question ID : 65497834721
Status : Answered
Chosen Option : 1

Q.2 Who among the following was the first Indian actor to be made a Chevalier of the
Ordre des Arts et des Lettres?

Ans & 1.Sivaji Ganesan
X 2. Rajnikanth
X 3.Rajesh Khanna
X 4. Dilip Kumar

Question ID : 65497834717
Status : Not Answered
Chosen Option : --

Q.3 Which among the following is NOT a human capital?
Ans X 1.Health care

< 2. Education
X 3. Training
& 4. Land

Question ID : 65497834718
Status : Answered
Chosen Option : 4

Q.4 In which year was Communist Party of India formed?
Ans X 1.1940

X 2.1943
X 3.1927
o 4.1925

Question ID : 65497834719
Status : Not Answered
Chosen Option : --

e _____________________________________—— >} ).
Q.5 The highest peak of Arunachal Pradesh state is

Ans X 1. Kamet
X 2. Trisuli

«” 3. Kangto
< 4. Nun-Kun

Question ID : 65497834723
Status : Answered
Chosen Option : 1
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Q.6 Where was the SAFF Women's Championship 2019 held?
Ans & 1. Nepal

X 2.Bhutan

X 3.India

X 4.Bangladesh

Question ID : 65497834724
Status : Answered
Chosen Option : 3

Q.7 Who was the winner of the Jnanpith award in the year 2019?
Ans X 1. Shankha Ghosh

X 2. Bhalchandra Nemade
" 3. Akkitham Achuthan Namboothiri

X 4. Chandrashekhara Kambara

Question ID : 65497834729
Status : Not Answered
Chosen Option : --

Q.8 Which of the following countries hosted the 16th G20 Summit in 2021?
Ans X 1.Japan
X 2. Saudi Arabia

o 3. ltaly
X 4. India

Question ID : 65497834722
Status : Answered
Chosen Option : 3

Q.9 What do you call the process of change in the base pair sequence of an organism?
Ans X 1. Pollination

< 2. Decantation

& 3. Mutation
X 4. lonisation
Question ID : 65497834716
Status : Answered
Chosen Option : 3
Q.10 Robert Hooke discovered the cell in 1665 by observing a under a microscope.

Ans X 1.leaf
X 2. grain of sand
X 3.rock
«" 4. piece of cork

Question ID : 65497834736
Status : Answered
Chosen Option : 4
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Q.11 Which newspaper edited by Bal Gangadhar Tilak, was one of the strongest critics of
the British rule?

Ans X 1. Amrita Bazar Patrika
o 2. Kesari
X 3.The Tribune
X 4. The Hindu

Question ID : 65497834735
Status : Answered
Chosen Option : 2

Q.12 Who among the following was an eminent scholar of Sanskrit, Hindi and Rajasthani
beside Persian, Arabic and Turki?

Ans  # 1. Abdul Rahim Khan-i-Khanan
X 2. Birbal
X 3. Akbar
X 4.Ras Khan

Question ID : 65497834727
Status : Answered
Chosen Option : 1

Q.13 Who among the following Indian cricketers bowled 14 overs with abandage around
his fractured jaw against the West Indies at Antigua in 2002?

Ans X 1.Harbhajan Singh
X 2.Ishant Sharma
X 3.Zaheer Khan
«" 4. Anil Kumble

Question ID : 65497834733
Status : Answered
Chosen Option : 4

Q.14 In which of the following years was the Gajapati kingdom of Orissa established?
Ans X 1.1567

X 2.1336

X 3.1467

o 4.1435

Question ID : 65497834720
Status : Answered
Chosen Option : 1

Q.15 When did Cyclone Amphan hit India?
Ans X 1. March 2020

X 2. April 2020
X 3.June 2020
& 4. May 2020

Question ID : 65497834728
Status : Answered
Chosen Option : 3
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Q.16 Which of the following Tiger Reserves was granted the ‘Conservation Assured Tiger
Standards’ status in July 2021?

Ans X 1.Ranthambore Tiger Reserve
X 2. Corbett Tiger Reserve
" 3. Mudumalai Tiger Reserve

X 4.Bandhavgarh Tiger Reserve

Question ID : 65497834738
Status : Answered
Chosen Option : 1

Q.17 Which of the following is NOT a cause of food and water contamination?
Ans X 1. Chemical runoff from factories

X 2. Incorrect food storage
X 3. Infectious organisms in the atmosphere

«¥ 4. Bites by stray animals

Question ID : 65497834715
Status : Answered
Chosen Option : 3

Q1B Fg «f AW___ H maﬁ(Furrow) & W@@fwm
Ans X1, Eﬁﬂ?{

o 2. IR

X 3. Sl

x4 BIGIGIR

Question ID : 65497834737
Status : Answered
Chosen Option : 4

Q.19 Under which Article of the Constitution of India shall the Governor of a State be
appointed by the President by warrant under his hand and seal?

Ans X 1. Article 153
X 2. Article 154
X 3. Article 156
«” 4. Article 155

Question ID : 65497834725
Status : Not Answered
Chosen Option : --

Q.20 In which year was the Hindu Succession Act of 1956 amended to give equal right to
father’s property to daughters?

Ans 4 1.2005
X 2.2007
X 3.2001
X 4.2010

Question ID : 65497834734
Status : Not Answered
Chosen Option : --
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Q.21 Which of the following is NOT an age-verification test method that makes an
assessment based on hand and wrist radiographs?

Ans X 1. The Tanner-W hitehouse method
X 2. The Greulich-Pyle method
X 3.The FELS method

" 4. The cervical vertebral maturation method

Question ID : 65497834726
Status : Answered
Chosen Option : 4

Q.22 The Hundru falls are formed by the river
Ans X 1. Umngot

4" 2. Subarnarekha
X 3.Tsangpo
X 4.Teesta

Question ID : 65497834732
Status : Not Answered
Chosen Option : --

Q.23 Which of the following is NOT a service provided to its clients by banks in India?
Ans X 1.ECS

X 2.RTGS
X 3.NEFT
« 4. URL

Question ID : 65497834731
Status : Answered
Chosen Option : 4

Q.24 Who among the following players did NOT win a gold medal at the Alexis Valentine
International Boxing Tournament held in Nantes, France 2020?

Ans X 1. Ashish Kumar
X 2. Sanjeet
X 3. Amit Panghal
¥ 4. Sumit Sangwan

Question ID : 65497834730
Status : Not Answered
Chosen Option : --

Q.25 Which of the following is a sword dance meant to depict the martial art tradition of the
Kumaoni tribe?

Ans X 1. Kachchhi Ghodi
X 2. Gair
" 3. Chholiya
X 4. Chari

Question ID : 65497834714
Status : Answered
Chosen Option : 2

Section : Part C Elementary Mathematics
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Q-1 1f the radius of the base of a cylinder is increased by 20% and its height is decreased by 33;% , then what will be the
change in percentage in its volume?

Ans 1. Decrease by 0.4%
2. Increase by 2%
3. Decrease by 4%

4. Decrease by 2%

Question ID : 65497834758
Status : Not Answered
Chosen Option : --

Q.2 Atrain travelling at a speed of 45 km/h crosses a house in 12 sec. What is the length of the train?
Ans 1. 150 m

X2 10m

X3 230m

X4 180 m

Question ID : 65497834754
Status : Answered
Chosen Option : 1

Q.3 The compound interest (in ¥, nearest to a rupee) on a sum of T7,500 at 24% p.a. for 3 months, interest compounded
monthly. is:

Ans 1 459
X2 439
X3 303
X 4. 465

Question ID : 65497834757
Status : Answered
Chosen Option : 1

Q4 If(a+b—c):(b+c—a):(a+c—b)=4:5:9 thena—bic—bic—a=
Ans X1.4:1:5

xX25:1:4
x31:4:5
Wi 4:5:1

Question ID : 65497834743
Status : Not Answered
Chosen Option : --
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Q.5 A mixture contains alcohol and water in the ratio of 3 : 4. On adding 8 litres of water. the ratio of alcohol to water

becomes 5 : 8. The original quantity of the mixture (in litres) is:
AnS 170
X2 63
X3 35
x4 84

Question ID : 65497834756
Status : Answered
Chosen Option : 2

Q.6 X takes twice as much time as Y and thrice as much time as Z to finish a job. Working all together, they can finish it in 2
days. Y alone can finish the job in:

Ans 1. 14 days
2. 10 days
3. 12 days
4. 6 days

Question ID : 65497834753
Status : Answered
Chosen Option : 4

_________________________________________——————————
Q.7 An iron is bought for 210. Decide its MRP so that after a discount of 5%, you still gain 90%.

Ans 1. ¥385.50
2. 3524
3. 3630
4. 3420

Question ID : 65497834751
Status : Answered
Chosen Option : 4

Q.8 The average of the marks scored by Amit in 5 subjects is 72. If the average of the marks scored in 3 of these subjects is
70, then what is the average of the marks in the remaining subjects?

Ans X1 25
2 75
X3 50
X4 71

Question ID : 65497834740
Status : Answered
Chosen Option : 2
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Q.9 Four numbers are in the ratio 2 : 3 : 5: 7 and their HCF is 6. What is the sum of the squares of the largest and the
smallest numbers?

Ans X1 486
X2 324
X3 54
¥ 4 1908

Question ID : 65497834739
Status : Answered
Chosen Option : 4

Q10 If P is 220% of Q, then what percentage of P+ Q will Q be?
Ans X1 37%

X2 48.15%

3 31.25%

X4 25%

Question ID : 65497834760
Status : Answered
Chosen Option : 2

1
Thevalueof(z of7% w5 2%) -+ (5% + 3% of6) — 1; X 2 is:

Ans 3
X1 =
2
1
2 2, 22
4
2
X3 _Z
3
val
4
Question ID : 65497834761
Status : Answered
Chosen Option : 1
Q.12

An article was sold at % times of its cost price. The profit per cent is:

Ans X1 36.5%
X2 35%
+ 3. 37.5%
X 4. 36%

Question ID : 65497834746
Status : Answered
Chosen Option : 3
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Q.13 Ina transaction, the profit percentage is 48% of the cost. If the cost further increases by 20% but the selling price

remains the same, how much is the decrease in the profit percentage?
Ans X1 14.67%

2. 24.67%

X3 34.67%

X4 24.0%

Question ID : 65497834748
Status : Answered
Chosen Option : 2

Q.14 A retailer gains 18% after allowing 12% discount on the cost price. If the cost price is 16,500, then what is the selling

price?

Ans 1 %17.354.60
2. ¥16,155.50
3. T17.550

4. %17.133.60

Question ID : 65497834755
Status : Answered
Chosen Option : 4

Q.15 A 243 m long train running at 60 km'h takes 42 seconds to cross a tunnel. The length (in m) of the tunnel is:

ANS 1 457
X2 467
X3 477
X4 447

Question ID : 65497834762
Status : Answered
Chosen Option : 1

Q.16 A sum of money is put on compound interest for 2 years at 20%. It would fetch T964 more if the interest was payable
half-yearly than if it was payable yearly. Find the sum.

Ans 1. 340,000
2. 380,000
3. T60.000
4. 370,000

Question ID : 65497834749
Status : Answered
Chosen Option : 1
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Q.17 Find the least number of five digits which is exactly divisible by 18, 21 and 24.

Ans 1. 10080
X 2. 10286
X3 11310
X 4. 10060

Question ID : 65497834759
Status : Answered
Chosen Option : 1

Q18 The perimeter of a circular garden is 506 m. The cost (in ) of levelling it at T14/ m? is:
(Take m= ? )

Ans X1 251831

X2 312581

« 3. 285131
X4 218531

Question ID : 65497834744
Status : Not Answered
Chosen Option : --

Q19 1f 10% of A = B, then B% of 20 is the same as:

Ans 1. 205 of A
X2 5%of A
X3 3%ofA
X4 4% of A

Question ID : 65497834752
Status : Answered
Chosen Option : 1

Q.20 3

3,33
7 R
Eégofi— 49 A
R ey

The value of

Ans
40

1. —
x 49

20
X311

X 4 2
49

Question ID : 65497834745
Status : Answered
Chosen Option : 2
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Q.21 What is the difference between the compound interest compounded annually and the simple interest on 5,000 at the
rate of 8% per annum for 2 years?

Ans X1 364
X2 384
X3 748
¥4 232

Question ID : 65497834742
Status : Not Answered
Chosen Option : --

Q22 Ifx:2y=4:9and 2 :x=3:4, then what is the value of y?
Ans X1 4

2 3

X3 5

X4 6

Question ID : 65497834741
Status : Answered
Chosen Option : 2

Q.23 A, Band C complete a work in 5 days, 6 days and 8 days, respectively. If they work together and get 32,950 for the
work, how much amount does B get?

Ans 1 %1,200
2. 1,000
3. 31,150
4. 31,050

Question ID : 65497834747
Status : Not Answered
Chosen Option : --

Q.24 A trader buys two articles A and B for T600. He sells A at 20% profit and B at 10% loss. If he gains 8% in the whole
transaction, then the cost price (in ¥) of article A is:

Ans X1 350
+ 2. 360
X3 375
X 4. 380

Question ID : 65497834763
Status : Answered
Chosen Option : 2
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Q.25 The average weight of 8 people increases by 2.5 kg if a new person replaces one weighing 50 kg. What is the weight of
the new person?

Ans X 1 52kg
X 2. 58kg
« 3. 70 kg
X4 T2kg

Question ID : 65497834750
Status : Answered
Chosen Option : 2

Section : Part D English

Q.1 Select the most appropriate ANTONYM of the given word.
Ample
Ans X 1. Enough
X 2.Plenty
X 3.Spare
" 4. Scarce

Question ID : 65497834780
Status : Answered
Chosen Option : 2

Q.2 Select the option that can be used as a one-word substitute for the given group of
words.

Handwritten book
Ans X 1. Draft
X 2. Edition
% 3. Manuscript
X 4. Outline

Question ID : 65497834767
Status : Answered
Chosen Option : 3

Q.3 Select the most appropriate option to fill in the blank.

Hill stations like Darjeeling and Nainital offer to weary tourists during summer.
Ans X 1.strain

X 2. activity
«” 3.solace

X 4. aid

Question ID : 65497834766
Status : Answered
Chosen Option : 3
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Q.4 Select the option that can be used as a one-word substitute for the given group of
words.

Something that can be carried easily
Ans  # 1. Portable

X 2. Convenient

X 3.Handy

X 4.Reachable

Question ID : 65497834781
Status : Answered
Chosen Option : 1

Q.5 Select the most appropriate option to fill in the blank.

The Sports Minister the Badminton Association officials that all help will be
given to them to conduct the tournament.

Ans X 1.committed
X 2. ascertained
«# 3. assured

X 4. demonstrated

Question ID : 65497834768
Status : Answered
Chosen Option : 3

Q.6 Thefollowing sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The photographer climb / the tree and took pictures / of the leopard / chasing its prey.
Ans  «# 1. The photographer climb
X 2.the tree and took pictures
X 3. of the leopard
X 4.chasing its prey

Question ID : 65497834770
Status : Answered
Chosen Option : 1

Q.7 Select the most appropriate synonym of the given word.
Convert
Ans X 1.Dazzle
& 2. Transform
X 3. Radical
X 4. Affect

Question ID : 65497834775
Status : Answered
Chosen Option : 2
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Q.8 Select the option that can be used as a one-word substitute for the given group of
words.

Fluent or persuasive in speaking or writing
Ans X 1. Presenter
X 2. Magnificent
«# 3. Eloquent
X 4.Persuader

Question ID : 65497834776
Status : Answered
Chosen Option : 3

Q.9 Thefollowing sentence has been split into four segments. Identify the segment that
contains a grammatical error.

The Great Wall of China/is no long/a continuous structure /owing to erosion.
Ans X 1. acontinuous structure
¥ 2.isnolong
X 3.The Great Wall of China

X 4. owing to erosion

Question ID : 65497834779
Status : Answered
Chosen Option : 2

Q.10 Select the INCORRECTLY spelt word.
Ans X 1. Solitary

X 2. Individual
X 3. Criteria
o 4. Ledgible

Question ID : 65497834782
Status : Answered
Chosen Option : 1

Q.11 Select the most appropriate ANTONYM of the given word.
Opponent
Ans & 1. Supporter
X 2. Professor
X 3. Mentor
X 4. Presenter

Question ID : 65497834772
Status : Answered
Chosen Option : 1

Q.12 Select the INCORRECTLY spelt word.
Ans X 1. Hostel

X 2.Hold
" 3. Hospitaliti
X 4. Hoist

Question ID : 65497834765
Status : Answered
Chosen Option : 3
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Q.13 Select the most appropriate synonym of the given word.
Similar
Ans X 1.Alien
o 2. Alike
X 3.Several
X 4.Equal

Question ID : 65497834771
Status : Answered
Chosen Option : 2

Q.14 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

If you are in trouble, Tommy is the friend who stands by you.
Ans X 1. No substitution required
" 2. will stand by
X 3. was standing by
X 4. stood by

Question ID : 65497834777
Status : Answered
Chosen Option : 3

Q.15 Select the most appropriate meaning of the given idiom.

To pull afast one on someone
Ans X 1. Todrive very fast
¥ 2. To cheat someone

X 3. To win against someone

X 4. To enchant someone

Question ID : 65497834778
Status : Answered
Chosen Option : 3

Q.16 Select the most appropriate option to fill in the blank.
If the neighbours had not food, we might have starved.
Ans  «# 1. provided
X 2. added
X 3.stolen
X 4. thrown

Question ID : 65497834783
Status : Answered
Chosen Option : 1
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Q.17 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

If | see a snake, | tried to catch it.
Ans X 1. was trying

X 2. No substitution required
«” 3. will try to catch

X 4. am trying

Question ID : 65497834764
Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

Indirect questions will be used while seeking information about an embarrassing
subject.

Ans X 1. are used while seek information
X 2. No substitution required
X 3. are use while seeking information

¥ 4. are used while seeking information

Question ID : 65497834769
Status : Answered
Chosen Option : 4

Q.19 Select the most appropriate meaning of the given idiom.
To kick the bucket
Ans X 1.Tolose
X 2.Toplay
& 3. To die
X 4. To fight

Question ID : 65497834773
Status : Answered
Chosen Option : 1

Q.20 Parts of the given sentence have been given as options. One of them contains a
grammatical error. Select the option that has the error.

Rama’s scores in the half-yearly examination are best than Raghu’s scores.
Ans & 1. are best than
X 2.Raghu’s scores
X 3.Rama’s scores

X 4.inthe

Question ID : 65497834774
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Pollution is the (1) of the environment and the biggest problem across the globe. The
major causes of pollution include (2) use of motor vehicles, rapid industrialisation,
increasing urbanisation, use of chemical fertilisers in agriculture and burning of fossil fuels. It
has a (3) effect on human health. Air pollution causes respiratory diseases and other
diseases related to lungs. Noise pollution impairs the (4) senses and causes stress.
Water pollution pollutes water, which is mainly harmful for aquatic animals. The responsibility
of (5) the pollution is in the hands of human beings.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans X 1. mixture

«# 2. contamination
X 3.impure
< 4. adulteration

Question ID : 65497834785
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Pollution is the (1) of the environment and the biggest problem across the globe. The
major causes of pollution include (2) use of motor vehicles, rapid industrialisation,
increasing urbanisation, use of chemical fertilisers in agriculture and burning of fossil fuels. It
has a (3) effect on human health. Air pollution causes respiratory diseases and other
diseases related to lungs. Noise pollution impairs the (4) senses and causes stress.
Water pollution pollutes water, which is mainly harmful for aquatic animals. The respons bility
of (5) the pollution is in the hands of human beings.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans X 1. bulky

X 2.slight
X 3. compact

o 4. massive

Question ID : 65497834786
Status : Answered
Chosen Option : 4
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Pollution is the (1) of the environment and the biggest problem across the globe. The
major causes of pollution include (2) use of motor vehicles, rapid industrialisation,
increasing urbanisation, use of chemical fertilisers in agriculture and burning of fossil fuels. It
has a (3) effect on human health. Air pollution causes respiratory diseases and other
diseases related to lungs. Noise pollution impairs the (4) senses and causes stress.
Water pollution pollutes water, which is mainly harmful for aquatic animals. The responsibility
of (5) the pollution is in the hands of human beings.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans X 1.safe

X 2.risky
X 3.threatened
# 4. hazardous

Question ID : 65497834787
Status : Answered
Chosen Option : 4

l-_________________________________________________________________________________________________________________________________|
Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Pollution is the (1) of the environment and the biggest problem across the globe. The
major causes of pollution include (2) use of motor vehicles, rapid industrialisation,
increasing urbanisation, use of chemical fertilisers in agriculture and burning of fossil fuels. It
has a (3) effect on human health. Air pollution causes respiratory diseases and other
diseases related to lungs. Noise pollution impairs the (4) senses and causes stress.
Water pollution pollutes water, which is mainly harmful for aquatic animals. The respons bility
of (5) the pollution is in the hands of human beings.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans  &* 1. auditory

X 2. aud ble
X 3. audacious
X 4. hearing

Question ID : 65497834788
Status : Answered
Chosen Option : 1
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Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Pollution is the (1) of the environment and the biggest problem across the globe. The
major causes of pollution include (2) use of motor vehicles, rapid industrialisation,
increasing urbanisation, use of chemical fertilisers in agriculture and burning of fossil fuels. It
has a (3) effect on human health. Air pollution causes respiratory diseases and other
diseases related to lungs. Noise pollution impairs the (4) senses and causes stress.
Water pollution pollutes water, which is mainly harmful for aquatic animals. The responsibility
of (5) the pollution is in the hands of human beings.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans X 1. minimal

X 2. minimise
< 3. minimum

% 4. minimising

Question ID : 65497834789
Status : Answered
Chosen Option : 4

Section : Part D Hindi

Qi THNIUUE-X oM@ Ydd ofu-
Ans X1.3ﬂFﬁ?|$

X 2.7 Ud

X 3 TGH

IR

Question ID : 65497834805
Status : Not Answered
Chosen Option : --

Q@ WY FITAD T
Ans xﬂ:ﬂﬁ%

WL ERE:)

X3.1Tﬁ Hh

X4.qTﬁ Hh

Question ID : 65497834790
Status : Not Answered
Chosen Option : --

Q3 UMY I qaW

REES
Ans X 1 Jd\d
o 2. O

X3 IR
7@.3‘1@&

Question ID : 65497834795
Status : Not Answered
Chosen Option : --
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Q.4 {23 W arerier ¥ forg v oreg AR

el @ witfaa Tg arer
Ans 1 fasshdt
X 2. it
X 3. R
X 4. Rusrt

Question ID : 65497834797
Status : Not Answered
Chosen Option : --

Q5 RAWawd eam AR 3?2

3 BH TR T
Ans X 1 o7
X 2. =i
o 3. TR
X4

Question ID : 65497834808
Status : Not Answered
Chosen Option : --

Q.6 Ry 7y arr ¥ Ywifisa ww B wfawenfia ww & fow wad 3w e o1 agT w3 AR @
wferenfia & $ sraeawar 78 §, a) ey il agema HY smaegwar 7@ § &1 waT B
WETgH & Fuel BT 3 sl ¥ e ER))

Ans X 1 i 0

2. &
X 3. fRu
X 4. ot aeerma St raededr TE §1

Question ID : 65497834801
Status : Not Answered
Chosen Option : --

Q.7 3 fawe o1 g &Y 9 e gerad ®1 3ref oo e 81
SR g
Ans X 1 R EAT
X 2. faga g
o 3. ARETFH
X 4. @R A

Question ID : 65497834802
Status : Not Answered
Chosen Option : --
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Q8 Rumarmasragumaa s G AR 3 aR P FR 78 ¢, A I R H &' g1
g afeaw B war 9 e wr ¥ uftwida Bt 81
Ans 1 B R
X 2. w o A ufiefara g1t 21
X 3. glgmmafw s
X 4y gl
Question ID : 65497834798
Status : Not Answered
Chosen Option : --
Q.9 fGrRad AT 7 B arraier b fAT v org Bym-
Ans 1 3R
X 2. fRaA
X 3.9
X 4. 3a
Question ID : 65497834803
Status : Not Answered
Chosen Option : --
Q.10 fZy T awrier ¥ T v org -
fra ot B P e T Y 9
Ans X 1 3oy
o 2.9y
X 3. amen
X 4.3t
Question ID : 65497834796
Status : Not Answered
Chosen Option : --
Q11 Frary feweT vafaard 22
Ans X 1.ug
X 2.3y
X 3.9
o 4. 3%
Question ID : 65497834809
Status : Not Answered
Chosen Option : --

Q.12 fior e 61 gfe 3 fory wa 3wy oreg &1 aga B

WuRdgA W ____ #
Ans X 1. 3Wg
X 2.9z
 3.7d
X4z

Status : Not Answered

‘ Question ID : 65497834804
Chosen Option : --
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Q.13 Ry 7y g ¥ Y@ifesa @ B nfeenfia s & fow wa 3w few &1 aga &) ok @
wierenfta & $ saeawar 78 §, o) e fit agem B smacasar 78 § &1 @ B
3% aweiors el A Feifda & &3 wm.
Ans X 1. aneer 3 fdfda s e m
o 2. a2 ¥ feifea o fam man
X 3. ameer & feifda = & mam
X A. et aeera BY smaLgesdr T& §1

Question ID : 65497834793
Status : Not Answered
Chosen Option : --

Q.14 Ry my are ¥ Ywifea S B wfavenfia w3 & fog T 3wge e o1 a7 &30 ok @
wiawenfia &3 Bt smaegwar 781 &, oY feer fift agema ) sraegwar 781 & s1owA &3

IR HW R Srefaeany §1
Ans X' 1. 310 HW ATHTGRaT
X 233 % ancAfaRary
o 3.3 R fFeamw
X 4. et geerma & sraeaddr T8 8

Question ID : 65497834800
Status : Not Answered
Chosen Option : --

Q15 Fiefas’ 1 farei erg gv-
Ans X 1 §%ma

X 2w

o 3. unefe

X 4. gnds

Question ID : 65497834806
Status : Not Answered
Chosen Option : --

Q.16 g my averr &1 78 Wi Fra B ol P IR §) AR P R i 3, A B R A ¥ g
Taft 3% TR (1)\ 3691 uA 8 aenfd (2)\ a8 wea @ 81 (3)\ P g a8 2 (4)
Ans X 1.3
2.2
X 3.1
X 4.4

Question ID : 65497834794
Status : Not Answered
Chosen Option : --
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Q.17 fier e 61 gfe 3 fore wa 3ugem eoreg &1 aga B

v ¥ P AT BAT T T8
Ans 1 dreH

X 2 f&m
X 3. fig=r
X 4 @
Question ID : 65497834792
Status : Not Answered
Chosen Option : --
Q.18 gfEm 20gAr yerat &1 wd 3ref wn §?
Ans X 1. 3cgfiis By gAT
o 2. % @i
X 3. &fe &l sEr
X 4w @A
Question ID : 65497834807
Status : Not Answered
Chosen Option : --
Q.19 g 7y orz F wAARK 2reg @1 T B
R
Ans X 1.9m
X 2wt
o 3t
X 4 faaett
Question ID : 65497834799
Status : Not Answered
Chosen Option : --
Q.20 @ adt arer org @1 T BT
Ans X 1 sfead
X 2.sfeafk
X 3. wfarfx
4. wfeard
Question ID : 65497834791
Status : Not Answered
Chosen Option : --
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Q.21

Ans

Comprehension:

fog o merier ¥ & B 216z g g MY ¥ Haft weAl ¥ wdw weA & i e 3w fawed B
TG BRI

Wepfd Hsa BT §oav BT 339 (1) 21 wepfal wer J Wy 1 weed 3@ # 3R 3 ol v
Wi 3 ATa B g Pl 1@ 7 ) g IS (2) B & Hfet &= =T 7 B, Wy SRRy
wsa & grdt ¥ fawm B oy 3R ot , 39 wofa 1 Qe fasar 3R 3ot Wl wefa &t (3)
TEaHT 3 9 far| iR & 9o W 98 9 B wd-rfawe wwee o 3R 3§ (4)
P ETE WIS T | TGl g HGHOT 3R Wferap 3rige 2 & IROTH &1 Hpfd &Y Joae
TEATIR 3 HAHE G Sfd B JHHA Tgaran §1 9phd S @ (5) wenfia e &
ST Y ST ST Hl §
SubQuestion No : 21
rarier % fiam e (1) & foig waffies suge oz gm-
X 1. e
X< 2.
X 3. Tga™
4 WA

Question ID : 65497834811

Status : Not Answered

Chosen Option : --

Comprehension:

feg g marier ¥ A v ez wer fay g F) Heifed wedl A welkes e & foig wad 3uge famed B
Epskall

WPl g Bl oA BT 3gaw (1) #1 wpfar wer 3 w7 Y weedt W 2 31k 3 o e
e & 17 1 e et W@ ) g i 3 (2) 0 % S @am e mr &, wig SRR
A & gl ¥ fawm Bt ofeRr 3 @it , 39 Wl @1 Qe i 3R 3l el vl &t (3)
TEAAT 3R 3 a1 AT & 9o W 98 T B wd-2ifRme T 7 AR s # (4)
B @ W | Fgar §3HT WG oT 3R Wipferas 3riger gt & uRorm 21 wopfa @ g
TEATIR 36 T HHE ST BY HE ugardl §1 wefd & @l (5) T o &
ST Y ST S Hhl B

SubQuestion No : 22

Q.22 rerier & fiarm T (2) ¥ oy watfiies swgew oz grm-

Ans

1. NG
X 2_rede

X 3 fige
X 4. fvera

Question ID : 65497834812

Status : Not Answered

Chosen Option : --
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Q.23

Ans

Comprehension:

fog o merier ¥ & B 216z g g MY ¥ Haft weAl ¥ wdw weA & i e 3w fawed B
TG BRI

Wepfd Hsa BT §oav BT 339 (1) 21 wepfal wer J Wy 1 weed 3@ # 3R 3 ol v
Wi 3 ATa B g Pl 1@ 7 ) g IS (2) B & Hfet &= =T 7 B, Wy SRRy
wsa & grdt ¥ fawm B oy 3R ot , 39 wofa 1 Qe fasar 3R 3ot Wl wefa &t (3)
AT 3R X | AT & o1 W 98 wad B Fd -rfRAE FHen o 3R A (4)
P ETE WIS T | TGl g HGHOT 3R Wferap 3rige 2 & IROTH &1 Hpfd &Y Joae
TEATIR I A WG ST B A Tgarar §1 wpia & @ (5) wifid o &
ST Y ST ST Hl §
SubQuestion No : 23
Traier ¥ fiar ver (3) & ferg watfie suga orz grm-
X 1@
X 2. wmeg
X 3. g

o 470

Question ID : 65497834813

Status : Not Answered

Chosen Option : --

Q.24

Ans

Comprehension:

feg g marier ¥ A v ez wer fay g F) Heifed wedl A welkes e & foig wad 3uge famed B
Epskall

WPl g Bl oA BT 3gaw (1) #1 wpfar wer 3 w7 Y weedt W 2 31k 3 o e
e & 17 1 e et W@ ) g i 3 (2) 0 % S @am e mr &, wig SRR
A & gl ¥ fawm Bt ofeRr 3 @it , 39 Wl @1 Qe i 3R 3l el vl &t (3)
TEAAT 3R 3 a1 AT & 9o W 98 T B wd-2ifRme T 7 AR s # (4)
B @ W | Fgar §3HT WG oT 3R Wipferas 3riger gt & uRorm 21 wopfa @ g
TEATIR 36 T WG ST B B ugardl §1 wetd & e (5) T o &
ST Y ST S Hhl B

SubQuestion No : 24
raier & fear verm (4) & forg waifie swgew oz grm-
X199
X 2 fim
o 3. fammer
X 4. wnfa

Question ID : 65497834814

Status : Not Answered

Chosen Option : --
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Comprehension:

g Ty marier ¥ | B oz ger iy MY ¥ Weiftha Wl ¥ wes WA & foie waw Iwga faeq &
Epekat

Wepld ATe BN §eav BT 3gaw (1) #1 Wl e & wgea Y wgerdt 3@ § 3R 3R o v
Hfed 3 Ara B g Pl I8 7 ) wFE M 3 (2) B & Hfe &= e mar 3, Wy SRR
w7sa & gt ¥ fagm Y orfary 3R 7l , 39 wgha 1 Qe fasar 3k o wEe vt &t (3)
TEaHT 3 X T iR & 9o W 98 W B wd-2rfaar wuen @ 3k s € (4)
P ETE WIS T | TGl g3 HGHOT 3R Wpferes 3-ige ¥ & RO &1 Upfd &Y Joae
TEATER 3G T HFE SAifa B JHE ugardl 81 wgfd - el (5) T e &
ST Y ST AT HHl £
SubQuestion No : 26
Q.25 wrerier & fiarer werm (5) % fory waifire swgew orz grm-
Ans X 1. gwwar
o 2.
X 3. wwrr

X 4. wgstan

Question ID : 65497834815
Status : Not Answered
Chosen Option : --
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Exam Date 22/11/2021
Exam Time : 12:30 PM - 2:00 PM
Subject Constable GD 2021

Section : Part A General Intelligence and Reasoning
o1 U T® F I B AN ANR UG 4§ 315 S8 PR ITY YA g ORI UG gl ¢ 9 el ¢ B

DEATH : IZZPL :: LITRE : ?
Ans  «# 1. QDGNI
X 2. GNGNI

25 3.GNGVA
25 4. QDXVA

\{UCDLEUII iD . U54:11000104
Status : Answered
Chosen Option : 1

Q2 CUTTUCH F IS & THE TR Y NPT TG TN 9] a4d 4 ()b

YA R 31 THd gl

16 295 19
914417
267 16

Ans o 1.407
< 2.398
75 3.406
< 4.395

Qucot;ull ;D . 0549780\1\.}30
Status : Answered
Chosen Option : 1




Q3 37 37 3MW & =TT AT N e 9 F T F TIT FT TIHSS HEIT FGT T

gog=l, HgTS, gfxar & @i

Ans
69
16
Xs‘

Question ID : 65497836110

Status : Answered

Chosen Option : 1

Q4 Uh o H@E‘LHNTIL ‘he came back’ E|73f‘ni ji pa’ NECISIGING ‘go back now’ aﬁ‘paja ka’
wwg\"ﬁ?‘stop it now’zﬁ‘ka my uk’ AT Il B W%E Wq‘go’aﬁmw
ST

Ans X 1.ka

& 2.ni
& 3.ja
X 4.pa

Question ID : 65497836091

Status : Answered

Chosen Option : 3

Q5 W@E YTV T, wHALE I 25108147 P UHPCd Yozl 3! UTST  sark DY
T FRUFCT HUTTT
Ans X 1.211031037
«” 2.211032013
< 3.19811811
X 4.19812811

Question ID : 65497836097

Status : Answered

Chosen Option : 2




Q6 A8, cHRpTAH TRY TR w, N, 0 HR pAHE IRHA T ;11?5
TgAo 1§ 3?5?514 |pBah?A$$%3%$|AN
JUEN AERREN AL i
B3R o P aﬁaﬁﬁaﬁ'@

Ans X 1.N
K 2P
3.0
X 4aMm

Question ID : 65497836086
Status : Answered
Chosen Option : 3

Q7 WMI® AUFY IPITHF WAYTH F T T F AR
EIRERIE]

15, 16, 20, 47, 303, ?
Ans X 1.1909

5 2.1936
o 3.3428
& 4.3473
Question ID : 65497836098
Status : Answered
Chosen Option : 3
08 7 TE @ nﬁw TR W QUMY & Tl AP GAE o9

TAAY & Ay M{eﬂé |

1. Marmatites
2. Martinec
3. Marijuana
4. Marehan
5. Marienbad

Ans X 1.4,53,2,1

o 3.4,53,1,2
X 4.4,51,3,2

Question ID : 65497836100
Status : Answered
Chosen Option : 3




. FH IR T T B AEH UG I AT TS G A T .M
v aqmnqg 7Y o4 %uwﬁaﬁa‘}aﬁgw $QEQ1N?[ u:qr% m/&gﬁ gﬁag
THPITGD U Y 3J0RY B g /I 5

73 S e e
] 7§10 W 3
%ﬂ—ﬂ w@,g‘mm v

13

Subititio Ul
3§ 6N, O ol erd 5|

ans X 17 §1dR3EH SFTRUG G
L2007 T2 FFRUBAG
X2 Had T 1 HTRY B

X oI T 3 HTRY BB

Question ID : 65497836092
Status : Answered
Chosen Option : 2

Q10 37 famrew @1 T X ot & 78 sy wleafea ¥ (goer & sl Al §)

¢

.
¥ 3 (
< ON

[
&

Question ID : 65497836090
Status : Answered
Chosen Option : 3

Q11 TR ¥ LI QUL R, T ¥ A Full R & M § R T STl ST §1 3 T f ¥
Jg B TT PR

Ans X 1. EFHK
« 2. ABCG
X 3.0RTW
5 4. MNPS

Question ID : 65497836096
Status : Answered
Chosen Option : 2




o1 « G P1 W T4y TRIEd Y §, G Pl gl Hay - Y
Ans X 1. H?};E

X 2 Yeddd

Xs.flﬂ'ﬂ

G

Question ID : 65497836108
Status : Answered
Chosen Option : 4

o 7 TEIWHEU B GIAATHS TUSAATUANT 9 HIR 960 o1 TG0

56-39%x4+12+33=36
Ans 5 1%, +

X2_+,x
K 3- =
o 4 -

Question ID : 65497836088
Status : Answered
Chosen Option : 4

ou UM TH FHFY JHTAR, W T TW (WAT TG T 9F AR
REi
3, 6, 18, 90, 630, ?
Ans  «# 1.6930
< 2.6300
< 3.5670
X 4.5040

Question ID : 65497836102
Status : Answered
Chosen Option : 1




Q15 zdur &t & 71 HPA F T IR W TN W, WP & g9or 7 AT @ 9fafde m=faa w3

9 2
5
6
Ans
9 2
X1le 2
6
(1 <
X2 |& 2
?
< e
<3|z £
6
(S e
4|2 £

Question ID : 65497836099
Status : Answered
Chosen Option : 4

06 ¥ Y G AP FI TR, WG| o'qANS ¥ AT FUIACd
oCgagur gl
~NMN_M__N_MN_NN
Ans X 1. MMNNNM
75 2.NNMNMM
#5 3. NNMMNM
« 4. MNNMNM

Question ID : 65497836101
Status : Answered
Chosen Option : 4

Q17 AT TP F G A TN S SHAMHR S J & WH Y WUl A H S
o o : e

Ans vrl,E("I'cﬁ
Xz.ﬂﬁﬁ
X 3.dg1
X 1 TR T

Question ID : 65497836106
Status : Answered
Chosen Option : 1




Q.18 frr=fofa v IR-A=s Gor T §1 T F BT & TSI F T AAR I TN F T RER qgery
#r 3TERTEaT 22

Ans 1. 5’ 6

Question ID : 65497836089
Status : Answered
Chosen Option : 2

o.wtrratr GEREQTWBﬁT&I TG H9G I AIH BR W BRI
‘«’% %aahwsﬁwéaa 1T T o3 TIHF T AR
ARG SHAIQIE | TIRYPAA Y U & AR
36'[37
Ans ¢1,H§R
X 295
xﬂ%:@
x4+ AT

Question ID : 65497836109
Status : Answered
Chosen Option : 1




Ans

Ans

Ans

1%

X 4.

+<$0

> OO0 9
3 < <0

S 00 O

le++s

> OO Q)

O+ 0
O 00 O

B o+

> OO

o< O
S 00 O

C OO O
(< <=0
L <-4 ¢

S 00 O

o 4de |

7:36::

5:?

X127
X 2.35

W 3.

24

X 4.30

the smallest whole number. Find the number subtracted.

L

X 2.
X 3.
X 4.

289
268
287
276

Q20 fommifra Mgl ¥ we FTat & gh F FEA F FA AR 7P I FOS A Fea H QY @i
g1 TT FET Wielw W AT fewem?

Question ID : 65497836095
Status : Answered
Chosen Option : 1

Q21 3 ddb FTARA IR Y o3I G T e 4 g oR Qﬂﬁﬂ AEAE Id

Question ID : 65497836087
Status : Not Answered
Chosen Option : --

Q.22 When anumber is subtracted from the square of 17, then the sum becomes 3 times

Question ID : 65497836094
Status : Answered
Chosen Option : 1




U H 99l ST
Ans X 1.ZXILPR
X 2.ZIXPLR
«” 3.1IXOLS
X 4.13YLOS

Q23 W%EWI{, ‘VOLUME'Ebe‘AUQARva? UH E@TW?IB@WI{, DESIGN Bl HY

Question ID : 65497836105
Status : Answered
Chosen Option : 4

T T B

@REE

X 1

X 2.

Q.24 fu aw fashedt & ¥ 30 APl & TS HL, N AEAIRET G F FeeAaTR Fed (?) F WA |

Question ID : 65497836103
Status : Answered
Chosen Option : 4

025 3Y TP Y T D U P! AR ¢ Y Gg) Hay g ol (B UG 1 Ugel UG 4 |
BARK: FXWI :: STOP: ?
Ans X 1.WTQN
X 2.WWTR
" 3. WQTN
< 4. WTWR

Question ID : 65497836107
Status : Answered
Chosen Option : 3

Section : Part B General Knolwedge and General Awareness




Ans

Ans

Q.3

Ans

Ans

Ans

Q1 JTRMEAE P

Q5 a0 THRAT HTH

WS &1 U Y
X 1.1904
X 2.1903
& 3.1905

X 4.1902

Q.2 In the symbol of the electric cell, the thicker, shorter line represents the:

X 1.ring terminal
X 2. positive terminal
" 3. negative terminal

X 4. neutral terminal

&

< 1.1000 km
< 2.3000 km
< 3.2000 km
o 4.1500 km

Q4 W& U, CAIACTAC Pl2020 ¥ 0 __ H I T4

x 1-:|_§F 3 rT
X 2.7l

X 3. 9q
JA.W

BN 41 3P BT oTlwd O T 631 T o
& L. 11 Wickets (11 a%'c'\ﬂ)
«” 2. Mobile Premier League (Iﬁw AR Z’ﬂT[ MPL)
2< 3. Dream 11 ( S 3@37[)
X 4. BalleBaazi (§ \EHTYP[)

Question ID : 65497836129
Status : Answered
Chosen Option : 3

Question ID : 65497836112
Status : Answered
Chosen Option : 3

H@'Wﬁ;gﬂﬂ(ﬂq WIS ® TGaRA Y09 TR0 ® T Bl

Question ID : 65497836126
Status : Not Answered
Chosen Option : --

Question ID : 65497836135
Status : Not Answered
Chosen Option : --

S oy R T ATWIAY HUS T B WS

Question ID : 65497836116
Status : Answered
Chosen Option : 3




6% ¥ TG IRAT TTIAT 7Y PRAPTG B ol Ul
Ans 1. 3TATS! BN

X 2. M

X 3. TEICrErg! &Y

¥ FRCNT T

Question ID : 65497836128
Status : Answered
Chosen Option : 4

Q7 TRIEH NI <3 &9 &7 98 [AFMUSNaaaue Jgr
T, 7 7Y $Y ARG $] A1 O 82

Ans X 129 U

X 2.21 YR

o 3.25 GOR

X 4.15 W@T

Question ID : 65497836120
Status : Answered
Chosen Option : 3

Q8 XMLH AT Y YA (Queen's Stepwelly,___ TQ® IR dWH Y ol
unesco) @RI @Rl

Ans ‘flﬂ??ﬁ

X 2. PR

X 3 WEHdl

X 4. 3aH

Question ID : 65497836134
Status : Not Answered
Chosen Option : --

09 THH H AV N FFAIEMI TG G WY $F TBHA & qU (a0 Ty
ﬂmsp),a:::;maﬁmwshﬂamﬂa%mgggqm%s{wmmw

Ans X1, QQ’HW
X 2 S d IS
o 2 TG, oM
X 4 W?ﬁﬁ of

Question ID : 65497836117
Status : Not Answered
Chosen Option : --

Q.10 SR 2020 A Tﬂ@ﬂﬂ@ﬂé (B.CCl) & Ut SRR [ R ol FUY o170 BT
YhAns X 1. ﬁBHQTHT
X 2 T PIgel

o 3. 98 I IR
X 4 IR Yaq

Question ID : 65497836122
Status : Not Answered
Chosen Option : --




o T TIWMIGHA T T esco @ 7 RR - dlg ERERH
Ans xl,}'h'mw

X 2 URd

X 3 -::::::e]T_rﬁE[

PR |

Question ID : 65497836115
Status : Answered
Chosen Option : 4

Q.12 FET XAR] & P X1 A 3 & 1 HgIGd H G 1 FH U1 ard] o
Ans X 1. 9olgUTd

X 2.9 ol

xﬂ?ﬂfﬂﬁ

o 4 4Tad

Question ID : 65497836125
Status : Not Answered
Chosen Option : --

Q13 YR T 5 F 3 N0 TS 1857 DI T § IRTGHIT
HlAns X 113 %, 1658 B HAD oI H

JZ.ZOGE,lBSBﬁ AR H

X318 TOO 1850 B T 1A

X 4153 1850 B JA A

Question ID : 65497836118
Status : Not Answered
Chosen Option : --

o1 7 TEIATFH TR A FeH- ¢ R ABIINGT 7 T 0@Hg»
Ans X 1.8 PN o]

XZQ:TTnW T

X 3 AR p

J4.WW

Question ID : 65497836114
Status : Not Answered
Chosen Option : --

Q15 :Lﬂ;g?q%m%agg%%a | FEdE B UTF UG SHEW & 9 B oW

Ans o 1.72
X271
X 3.73
X 4.74

Question ID : 65497836130
Status : Not Answered
Chosen Option : --




Q16 ¥ cTTFRG & g G|
Eﬂ'cﬁi"?Ans o L 20 kHz T 3 4B
X215 kHz T 3 4P
X310 kHz T 3 4P

X 4.5k T 3 UF
Question ID : 65497836124
Status : Answered
Chosen Option : 1
Q.17 T4 2020 ¥, Wﬁ?;ﬁﬂq 7y a(Rupay)W > WZWQ}HR@[:— 0|
Ans X1 oloAR
VR
X3 CUI
X 4 Eﬂ oIl

Question ID : 65497836127
Status : Answered
Chosen Option : 3

ot 7 TEAAYSH AT YRIARA R g T8 THT FTATAMRS (R a0
ARG CHCaEed (56 #6380 GRS <RIl HUT D

Ans X 1 dHTEHY 0T
(2@'@?@% AR ¢
X% TIETHE ¢
X4 TIRB 0T

Question ID : 65497836133
Status : Not Answered
Chosen Option : --

Q-19W$q:f ETEHH@[ W-@a(games/sports)ﬁw 4d g2
Ans .fl.é%’qﬂ

X 2 9TEId
m.aﬁﬂa’m
X ad > oS

Question ID : 65497836123
Status : Not Answered
Chosen Option : --

Q20 TR 2020 H, SHHA MY & d T a02021 T HRA BT Yhd W] J oTq

(GDP)_____ 1 FP T gu &M
Ans X 1.-6%

X 2.-5.4%
X 3.-5%
o 4.-6.4%

Question ID : 65497836119
Status : Not Answered
Chosen Option : --




Q21 W ARG ( DF I 7 ATAAY T OGRS W 3! a9l
B2Ans X LEHATH T

X 2 @Y

3 Sl0H

X4.1-ﬁT[E'ﬂa

Question ID : 65497836111
Status : Answered
Chosen Option : 3

Q.22 25 Wzozoaﬁ, qu@ﬁaWﬁWW%HTHQWW Igds dC
HIS 3141 T YWIAH G au B, T8 T & 20000 T B TG & S o &

Ans X 1. &Hsc?ﬁ&ﬂ'ﬁn?ﬁ&ﬂ%; (cicly g
X 2. QU

o 3 &ﬂéﬁwm (ore) P dh
X a. Qﬂ@ﬁ@?ﬁ (HDFC) §ch

Question ID : 65497836131
Status : Not Answered
Chosen Option : --

027 TEIATOH AR AN CHTT T TRIRT T &
Ans xl.ﬂ?b'rﬁ(\%ﬁ'ﬂm)

X 2 YBIEH (TH)

o 3. @3@9@( "'lT.rﬁ?’l)

X o TR @)

Question ID : 65497836121
Status : Answered
Chosen Option : 3

Q24 TG T, AU § o W WUIRWEd suglt 9@ dedigl
Ans o 1 JHM GHATH

X 2 THUT TR IdT R

X33 IR T¥ TR I R

X o Y JHIA R

Question ID : 65497836113
Status : Answered
Chosen Option : 1

05 MRATE WIS 9 7 1Y)
Ans o L \_{Kﬂﬁ 1946

X 2.3 1945

X 3. AR 1946

X 4 TR 1045

Question ID : 65497836132
Status : Answered
Chosen Option : 3

Section : Part C Elementary Mathematics



Q1 ws o 5 km/h $ =16l § TdT §1 F9 TE A A F gGE 6 km/h FT T &, A I8 TRl 7 20
e e G S 71 O @R a9 H T g AT F

Ans 115 km
2. 8 km
310 km
4.12 km

Question ID : 65497836148
Status : Answered
Chosen Option : 3

|
Q.2 30 m i3 3t 90 m ¥ Ry IIATER e F AR IR FAW =SEE qTer Yeo A Far ¥ Y Vg
HE T e e 2800 m? ¥, v e AT i e (m ) Brar @t

Ans 1. 10
2. 20
3§
s 15

Question ID : 65497836145
Status : Answered
Chosen Option : 1

Q.3 56 el # 23,570 & A W, 14 et F WIS % WK FA G ¥ Th G F IS oA vkl 82
Ans 1. 75

2. 380

3. 365

4 385

Question ID : 65497836140
Status : Answered
Chosen Option : 4

Q4 Find the ratio of the diagonal of a square of side 15 cm, to its side.
AnS o . J2:3
X2 2:3
31 :\/i
a.42:1

Question ID : 65497836144
Status : Answered
Chosen Option : 4




Q5 AfFfra &2 ama?rmﬁ?rﬁqrra:rm%wma:r&a: T & 8 R F W A wRaT
%lA&ﬁrmewmaﬁmﬁwﬁww

Ans ¢l7§ﬁﬂ'
2. 6% e
3.71%‘7.[
4.6%3'

Question ID : 65497836160
Status : Answered
Chosen Option : 1

Q6 v wag # 45 =afea (Faor Tov X Afe) & g R Afgenst Hr FEw F W 5 - 4 {1 AR
T T HET a9 79.4 kg ¢ AR Afgensit # sitwa o= 64.5 kg &, O wHg & wh cafFaw w7
g a9 (kg H) e T (SerHeT % T T dF EN)?

Ans 1. 69.5

2. 738
3. 72.8

4. 77.4

Question ID : 65497836137
Status : Answered
Chosen Option : 3

Q7 wiRmg e EHABIRCFmustmr RataHrart F A3 B & Reat &
I 3 5§ @ur B 3R C F Rww # g 20 7 €1 A A F fewar 38600 € A Fo ety
® #) e oA

Ans 1. 30600
2. 25200
3. 36600
4. 21000

Question ID : 65497836138
Status : Answered
Chosen Option : 1

Q.8 T PRr 1 1 3a & THT F T I THaT &, A wEw F 7Y 3R T o 39 FH F @
T TH §| TR TS 3F 38 FH F 30 R F 7 W whar § AR Aoy 3R 77 Foww 5@ w7 A
15 R & 97 X Tt &, o A 3 $H F B fhar /e H I FT FohaT §2

A X1 45 e
2 42 fea
5. 58 faa
4 60 feT

Question ID : 65497836159
Status : Answered
Chosen Option : 4




@0 wm#wmﬁ F T7 2 T o F T
m@rmﬁmmm@maﬁgé?

Ans - 1.0.95%
2. 95%
3. 9.5%
4. 0.095%

Question ID : 65497836143
Status : Answered
Chosen Option : 1

|
Q.10 og gfear waer: 12 fBee, 9 fiee, 8 fwe, 6 fee, 3 e 3k 10 Bee & save & T@a: sorar ¥
YT B F AU F 12 ¢ H T -0 et aw weet?

Ans 1. 5

2. 4
3. 2
4. B

Question ID : 65497836136
Status : Answered
Chosen Option : 4

Q.11 e fadar & 260 & 10 &r aT & Tay TS 3 3% 324 & 6 Fr X ¥ 37 Ram| 30F a7 o @y 7
gfeera faaar 872

A1 20% Bt
2. 15% oITeT
3. 25% @ity
4. 10% oTeT

Question ID : 65497836154
Status : Answered
Chosen Option : 1

Q12 v o gedr FoiT FT AT 6930 cm® AR IR FAE 20 cm ¥ FWH Th TET ST
(cm? ) AAHL (1 = § )
Ans 11320
2. 660
3. 1760
4. 880

Question ID : 65497836152
Status : Answered
Chosen Option : 1




Q.13 v gF=ER 2,000 3ifhd Hew el Tw aFg W 20% R 15% Fr FHE ge & & 97 avg # T
TeT R a9 82

Ans 131,436
2. 1,600
3. 31,400
. 31,360

Question ID : 65497836146
Status : Answered
Chosen Option : 4

Q14 yfE ey H&aT FT 30% 37 AT & 60% ¥ 15 FF g, ar 98 §&IT 719 Hiav]
Ans 1. 40

2. 50

3. 65

4. 72

Question ID : 65497836158
Status : Answered
Chosen Option : 2

Q.15 29,480 #r «=f ¥ X, Y AR Z & €7 37 TFR Fenfea fraw 7w § & X AR Y F awr oo
5:6, X3l Z % & 7 3 4 7 81 Y AR Z & o7 F &7 R AT FH

Ans - 1.%1,200
2. 31,800
3. 31,440
4. %1,320

Question ID : 65497836150
Status : Answered
Chosen Option : 4

Q.16 faeh gt & weh 97 7 3T FEw 3350 ¥l gFEEER GERT & S A T 10% ¥ T F Rww qew
#r o Ffew)

Ans 12324
2. %325
: 2315
+ 3308

Question ID : 65497836157
Status : Answered
Chosen Option : 3




Q.17 v g T &4 #T &I Tgor 3 T & AT 8% IS &, 3Ter 4 Iut F AT 10% Ifew & 3k 7 aw
F a1 & 3™ F BT 12% af¥s &1 R B cafFa & 12 9§ & a¢ auner e F w9 H
313795 foera § O 30 fFae g=fyr R #) 1 g fFar ar?

12275
12000

10000
11125

Ans

=

N

@

~

Question ID : 65497836139
Status : Answered
Chosen Option : 4

Q.18 %5000 #r ¢RI WUROT &= R 6 Iut & 37,550 & <A &1 I et & &F 3.5% H I & Fer
g, & gty fraet g st

Ans 1. 8,600
2. 38,200
3. 8,500
4. 38,000

Question ID : 65497836141
Status : Answered
Chosen Option : 1

B 6. [4x3{(5EX4=(50f4+4+2x4)}] & AT AT =Tl

Ans 7

oL
10

x2 3
10
17
10
o]

10

X 3.

x

Question ID : 65497836153
Status : Answered
Chosen Option : 1

Q.20 w7 frely 1 & 60 o F T X Tham §1 T 10 e F Faw & 3R AR, T 30Fer AV FH =
35 foet & o A &1 IR TH AR TS v W FA F O Fowd TET F FF wAT FE0

Ans XL 252 e
2. 20> f&=o1
17
3. 21; ICGH
. 242 f&=
17

Question ID : 65497836155

Status : Answered
Chosen Option : 4




Q21 21 m 3 42 m & Farg e 2 WTHU P FAA TS AT RS F FeT A F| TeAH RS A
ATS 142 m
2.7 m
3.1 m
421 m

Question ID : 65497836142
Status : Answered
Chosen Option : 4

Q.22 1Ina hostel, 40 students are there. If 5 new students join, then the expenses of the mess will increase by 48 per day
while the average expenditure per student will diminish by ¥2. What was the original expenditure of the mess?

Ans 1 1,104
2. T1,020
3. T1,076
4. T1,100

Question ID : 65497836156
Status : Answered
Chosen Option : 1

Q.23 ammﬂz,sooq'rz% T F T Tf¥F 12% THafe O [ R, o A9 HY, TG =7 G &
¥ T AT §1 (Feheaw X H)

Ans 135,062
2. 34,591
3. 74,951
4. 35,026

Question ID : 65497836151
Status : Answered
Chosen Option : 2

Q.24 v =afFa ¥ 22,400 # v A X v Fuf G| 30 A P 12% & we1 W AR A Fr 10% Fr
Fifer X 3=, s T e 4% F1 e e A w7 HT a9 Hiee| (Feeaw it o @@
)
Ans 1.¥1,527
2. 31,225
3. 1,150

4.31,375

Question ID : 65497836149
Status : Answered
Chosen Option : 1




Q2 . 2 1.3 7 2.3 1
s 7-120f22+2 05 143 (2- 25207 )

F WA A W gRumHE 9o g

Ans ( 1. _2
37
T
48
2
x40

X 2.

X 3

Question ID : 65497836147
Status : Answered
Chosen Option : 1

Section : Part D English

Q.1 Select the most appropriate meaning of the given idiom.
Wee hours of the day
Ans X 1.Dusk
" 2. Dawn
< 3.Noon
X 4. Midnight

Question ID : 65497836169
Status : Answered
Chosen Option : 3

Q.2 Select the option that can be used as a one-word substitute for the given group of
words.

One who has unlimited power
Ans X 1. Omnivore
& 2. Omnipotent
X 3.Omnipresent
X 4. Omniscient

Question ID : 65497836172
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate option to fill in the blank.

Hitopadesha tales are written in a reader-friendly style, which perhaps to their
success.

Ans X 1. provided
" 2. contributed

X 3.supplied
X 4. arranged

Question ID : 65497836166
Status : Answered
Chosen Option : 2




Q.4 Thefollowing sentence has been split into four segments. Identify the segment that
contains a grammatical error.

I entered my room / and switch on the lights / but it was / still dark.
Ans X 1.still dark
X 2. butit was
«” 3. and switch on the lights

X 4.1 entered my room

Question ID : 65497836177
Status : Answered
Chosen Option : 3

Q.5 Select the most appropriate meaning of the given idiom.
Chicken hearted
Ans ¢ 1. Easily scared
X 2. Visibly pleased
X 3. Slightly risky
X 4. Readily available

Question ID : 65497836167
Status : Answered
Chosen Option : 1

Q.6 Select the correctly spelt word.
Ans X 1. Specefying

X 2. Spacifying
«” 3. Specifying
X 4. Specifing

Question ID : 65497836162
Status : Answered
Chosen Option : 3

Q.7 Select the option that can be used as a one-word substitute for the given group of
words.

That through which light cannot pass
Ans X 1. Cloudy
«” 2. Opaque
X 3.Gloomy
X 4. Lucid

Question ID : 65497836179
Status : Answered
Chosen Option : 2

Q.8 Select the INCORRECTLY spelt word.
Ans X 1. Summary

& 2. Sumpteus
X 3.Suffering
X 4. Sundry

Question ID : 65497836173
Status : Answered
Chosen Option : 2




Q.9 Thefollowing sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Please ensure / that you covering your face / with a mask / when you go out.
Ans ¢ 1.that you covering your face

X 2. with a mask

< 3. when you go out

X 4. Please ensure

Question ID : 65497836170
Status : Answered
Chosen Option : 1

Q.10 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

He moved on the undergrowth / quickly and silently, / hiding himself / from the enemy.
Ans X 1. hiding himself

%" 2. He moved on the undergrowth

X 3.fromthe enemy

X 4. quickly and silently

Question ID : 65497836164
Status : Answered
Chosen Option : 4

Q.11 Select the most appropriate ANTONYM of the given word.
Maintain
Ans X 1. Protect
X 2. Preserve
«” 3. Abandon
X 4. Sustain

Question ID : 65497836171
Status : Answered
Chosen Option : 3

Q.12 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

One day as mine little sister said she wanted to become an actress, we were shocked.
Ans X 1.since mine
& 2. when my
< 3. No improvement required

X 4.that my

Question ID : 65497836180
Status : Answered
Chosen Option : 2




Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

The environment is on threat hedgerows and woodlands are vanishing.
Ans X 1.inthreat
X 2. No substitution required
«” 3. under threat

X 4.into threat

Question ID : 65497836175
Status : Answered
Chosen Option : 3

Q.14 Select the most appropriate option to fill in the blank.

Many students are by the life of great leaders.
Ans o 1.inspired

X 2.involved
X 3.infected
X 4.interested

Question ID : 65497836174
Status : Answered
Chosen Option : 1

Q.15 Select the most appropriate ANTONYM of the given word.
REMEMBER
Ans X 1.Learn
«” 2. Forget
X 3.Retain
X 4. Memorise

Question ID : 65497836176
Status : Answered
Chosen Option : 2

Q.16 Select the option that can be used as a one-word substitute for the given group of
words.

Belonging to the middle ages
Ans X 1. Modern
X 2. Primitive
X 3. Ancient
«” 4. Medieval

Question ID : 65497836168
Status : Answered
Chosen Option : 4




Q.17 Select the most appropriate SYNONYM of the given word.
Appeal
Ans ¢ 1.Charm
X 2.Challenge
X 3.Bloom
X 4. Growth

Question ID : 65497836178
Status : Answered
Chosen Option : 2

Q.18 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

I recently visited the school when | studied in Class 10.
Ans X 1. No substitution required
X 2. whenever
" 3. where

X 4. wherever

Question ID : 65497836161
Status : Answered
Chosen Option : 3

Q.19 Select the most appropriate synonym of the given word.
Destroy
Ans X 1. Construct
«” 2. Demolish
X 3.Detach
X 4. Rehabilitate

Question ID : 65497836165
Status : Answered
Chosen Option : 2

Q.20 Select the most appropriate option to fill in the blank.
A soft breeze blows as the sun in the distant waters.
Ans X 1.ramifies
X 2.glazes
«# 3. shimmers
X 4. basks

Question ID : 65497836163
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

On International Women'’s Day, a large number of ‘women of substance’ spread (1) of
their equal status. Women celebrate their achievements and (2) their potential. They
have made themselves powerful and (3) their skills. Today, in every field, women have
proved (4) by scaling great heights and turning the tide of (5) in their favour.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans X 1.ignorance

X 2.arrogance
X 3. negligence

" 4. awareness

Question ID : 65497836182
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

On International Women’s Day, a large number of ‘women of substance’ spread (1) of
their equal status. Women celebrate their achievements and (2) their potential. They
have made themselves powerful and (3) their skills. Today, in every field, women have
proved (4) by scaling great heights and turning the tide of (5) in their favour.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans X 1.tolerate

X 2. depreciate
«" 3.recognise
X 4. deny

Question ID : 65497836183
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

On International Women’s Day, a large number of ‘women of substance’ spread (1) of
their equal status. Women celebrate their achievements and (2) their potential. They
have made themselves powerful and (3) their skills. Today, in every field, women have
proved (4) by scaling great heights and turning the tide of (5) in their favour.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank no. 3.
Ans & 1. upgraded

< 2.demoted
X 3. downgraded
X 4. motivated

Question ID : 65497836184
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

On International Women'’s Day, a large number of ‘women of substance’ spread (1) of
their equal status. Women celebrate their achievements and (2) their potential. They
have made themselves powerful and (3) their skills. Today, in every field, women have
proved (4) by scaling great heights and turning the tide of (5) in their favour.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
Ans X 1. her

¥ 2.themselves
X 3. herself
X 4.them

Question ID : 65497836185
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

On International Women’s Day, a large number of ‘women of substance’ spread (1) of
their equal status. Women celebrate their achievements and (2) their potential. They
have made themselves powerful and (3) their skills. Today, in every field, women have
proved (4) by scaling great heights and turning the tide of (5) in their favour.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.
Ans X 1.treasure

X 2. wealth
X 3. hardship
" 4. fortune

Question ID : 65497836186
Status : Answered
Chosen Option : 4

Section : Part D Hindi

Q1 UL I F @Y §
GﬁﬁeW's's::sT
Ans X 1 S A
X 2.9 o
o 3 S
X oY o

Question ID : 65497836189
Status : Not Answered
Chosen Option : --




Question ID : 65497836202
Status : Not Answered
Chosen Option : --

Q3 et adt arer oreg BT T W)
Ans X 1. wfea

¥ 2.3

X 3.3Ra

X 4 wda

Question ID : 65497836188
Status : Not Answered
Chosen Option : --

Q4 fio wo Y W ¥ oIy weRk Iuga oRg BT aTH B

AEAR BT W AT § R A BT A |
Ans 1 et
X 2. m
Rt
X 4. g

Question ID : 65497836193
Status : Not Answered
Chosen Option : -~

Q5 feffaa ¥ A B ar gaFrelf oY @1 g wdt w82
Ans 1 fiemafy - feames

X 2.4 - garax

X 3. -TR

X 4. 2fer - Torfver

Question ID : 65497836200
Status : Not Answered
Chosen Option : --

Q.6 fiorm vor ®Y W & fore wed 3w fawseT @1 oaa BY)

WEsH YsmeasuaaiE___ #
Ans X 1. gmg
X 2. 3nam
VEE
X A vaw

Question ID : 65497836201
Status : Not Answered
Chosen Option : --




Q7 gy org T fawiw gl

A

Ans X 1 fimE
X 2.9R
3.9

X 4. wafimre

Question ID : 65497836197
Status : Not Answered
Chosen Option : --

Q8 fmfafda we ¥, fay g ar fiwe ¥ A, 3w fawew &1 au7 &Y o gera HT1 37ef arew Bvar 1

BRI STeT
Ans X 1. op B ARAT
X 2. W88 B
o 3. WG WBR HAT
X 4. st g

Q.9 SitamR ¥ W BT UIe I
@iftea ez ¥ e 3fea org fdfami

Ans X 1 @i @t
X 2.Us 9 a@
X 3.
o 4. 3SitaA

Q.10 Ry 7y orz H1 AAFATLT 2R TaTET |

ag
Ans 1

X 2. 2@
X 3. 3ae
X 4 viet

Question ID : 65497836198
Status : Not Answered
Chosen Option : --

Question ID : 65497836205
Status : Not Answered
Chosen Option : --

Question ID : 65497836192
Status : Not Answered
Chosen Option : --




Q.1 fg g area @1 a W A Y R B AR 1 ARk P IR i, A DR AT
I g (1)\ TR @ TR (2)\ @i d1 G)\ B IR A & (4)

Ans

Q.12 Rt wR farora T Y ge8T F@Y AT araiel % A we oreg gYm-

Ans

Q.13 fiar e ®Y WA & TAT WO ITgT oRg BT 9 B

Ans

Q.14 wft adft arer ez &1 T B

Ans

X 11
x22
x3.4
S43

X 1.3
X 223
3. forfty
X 4. foshifay

rmraigeeRag____ ST

X 1. @t
o 2. 3%
X 3.z
X 4.¥wg=

X 1. 3551

X 2 sdfigfe

o 3. 355ad

X 4. g

Question ID :
Status :
Chosen Option :

65497836191
Not Answered

Question ID :
Status :
Chosen Option :

65497836204
Not Answered

Question ID :
Status :
Chosen Option :

65497836194
Not Answered

Question ID :
Status :
Chosen Option :

65497836187
Not Answered




Q.15 Ry 7y are ¥ Yaifea e Y wfarenfia w3 & e @ 3vgw e w1 aaT w3 IR @
wierenfia w3 $Y smacawar 78 , aY e fit agea B smacawar 78 & &1 @A w
&t @ viea B onimen Wiga fe W #)
Ans X 1| romTeT Witesd @ T 2
o 2. STST iged T TaT gl
X 3. o witgsd fasar T &1
X 4. foeft geerma &Y araeadmdr 78 €1

Question ID : 65497836190
Status : Not Answered
Chosen Option : --

Q.16 Y & fy 3ra @ &1 T g ¥ fAy v g ghm-
Ans X 1. arerewdor

X 2. reefarg
X 3. et
4. et

Question ID : 65497836206
Status : Not Answered
Chosen Option : --

QA7 g g arer BT a8 Wi ATa B forrdl B R 21 AR P FR A 2, A I IR A ¥ g

HAYR ¥ TG a1 I T B ASH §E B
Ans X1 FER A E A
X2wggfede
X 3. s gE

o 4. 39 T B

Question ID : 65497836199
Status : Not Answered
Chosen Option : --

Q.18 gy averr ¥ Ywifisa Se Y wfwenfia B ¥ A7 Fad 3w few &1 a7 33 IR @
wierenfira ® B sraeawar 781 &, @ fAwe fdt agera B smacawar 181 8 1w )
BT U5 WUETE faar |

Ans X 1ot aeeima B saeaddr T8 €

o 2. 3191 v fian| g=aE|
X 3. y=maw & wfd 3maer o e
X 4. 3muest gu=gare o3 e

Question ID : 65497836196
Status : Not Answered
Chosen Option : --




Q19 frmfafaa wea ¥, faw Ty an fawe ¥ A, 30 e o1 aaT ¥ o gera? @1 372l o s g1
sire e
Ans < 1_grer 3T
X 2. Rt s
X 3. fga g
o 4. TR T AT

Question ID : 65497836195
Status : Not Answered
Chosen Option : --

Q20 ifgrar @1 fawim org -
Ans X 1. wifda

X 2 dgpfaa

¥ 3 fix

X 4 fdfa@a

Question ID : 65497836203
Status : Not Answered
Chosen Option : --

Comprehension:
&=t (1) osTrad! gfa 21 a8 319 URuIedr sreifd @it & Tt (2) @rera T8l
3Teft| 3% B9 I BT (3) T U1 M URUTET 3BT H 1 AT A 3ifHie IReT BT B
gg Bt (4) B Y THIST & AT T8 ATel | 37T B aret (5) YRS R T
fearé &am
=1 weAY & Jav IWa Terier & IR W S
SubQuestion No : 21
Q.21 rarier & fiar T2 (1) % oy watfie 3uge ez grm-
Ans X =3
2. 3d
X 3.
X 4. gl

Question ID : 65497836208
Status : Not Answered
Chosen Option : --




Comprehension:

dwaf (1) woemmadt 3 1 a8 3o uRvrssal srafa @it & am it (2) wrea T8
Tt | 36 B9 A BT (3) T T Y URUTGT 35T 50 BI aHi § 3rfdies TReT T B
ggell (4) BT GHIS & ITHA TEL 31Tl | 39T IS aredt (5) YRG! W A
fewams &am

o1 wreaY & IR ITRerT T2l b MR W A9l

SubQuestion No : 22

Q.22 wrerier 3 fiar werm (2) ¥ forg waifires suge oz grm-

Ans

v 1.5
X 2w
X3 E
X 4R

Question ID : 65497836209
Status : Not Answered
Chosen Option : --

Comprehension:

=t (1) AouTTad! gfd 81 98 39 uRoTwdt relfa @l & ar it (2) @I TE
37Tt | 3 B9 AT BTRT(3) A TSR MY URUTG T 3HbT & BI ol & 3rfdies IReT T 2|
Tt (4) B Y TATST &5 AT TG 3ATelH | 3THT I ardt (5) YR WA
fewams <am

A woY & 3R IWew TEier F IR W AT

SubQuestion No : 23

Q.23 wrerier 3 fiam T2 (3) ¥ fory waffie Juge org grm-
Ans X 1 =

X 2. 3aseor

X 3=
W R o

Question ID : 65497836210

Status : Not Answered

Chosen Option : --

Comprehension:

£=f (1) Aoarradt gfd 81 8 3 uRvrddt srefa Tt & wme f (2) AT T8l
3Tt 39S B9 AMEFTRT (3) 79T ¥l URUTGRdT 30! &7 o1 STl  3rfties TReT T &1
gl (4) B W AT b TTHA T8l 31Telt| 3BT B aedt (5) _ UROIGpal W A8l
g &am

o1 wreaY & Fev IRVerT T2l b 3R W &9l

SubQuestion No : 24

Q.24 rrier ¥ fiarer werm (4) & forg waffire swgee oz Brm-
Ans X 1 e

X 2w
3. s
X 4. aitfee

Question ID : 65497836211

Status : Not Answered

Chosen Option : --




Comprehension:

g o wm__ d .:::xlaa‘Tq ARt 0 S v e 1 R R G R

gl

Tt B T AT P 7 7& D T U ¥ 4P Wel el gl

u%%lﬁ@) u@%ﬂm%%ﬁﬁ 3Tt ST BT TGN (5) ?IRUWWTE»’E
il

T HIIWR T AT MRRGN
SubQuestion No : 25
Q5T -G X Hpd quad Yp3ug T
EﬂTﬂ.Ans o 1. AT
2. 3
P EAIE
X 4. 3ale0

Question ID : 65497836212
Status : Not Answered
Chosen Option : --




Exam Date 22/11/2021
Exam Time : 4:00 PM - 5:30 PM
Subject Constable GD 2021

Section : Part A General Intelligence and Reasoning

Q.1 In acertain code language, VOLLEY is written as WpMMfZ, and DON is written as EpO.
How will DENSITY be written in that language?

Ans X 1.EFotUy
X 2.EEoTjuz
X 3.Ffotiuz
o 4.EfOTjUZ

Question ID : 65497831664
Status : Answered
Chosen Option : 4

Q.2 Select the letter-cluster from among the given options that can replace the question
mark (?) in the following series.

NKI, PMK, ROM, ?
Ans X 1.TRP
X 2.TOM
X 3.SPN

" 4.TQO
Question ID : 65497831641

Status : Answered
Chosen Option : 4

Q.3 Which two numbers (NOT digits) need to be interchanged to make the following
equation correct?

3x45+5+7-12=70
Ans o 1.3and5

X 2.5and 12

X 3.5and7

X 4.3and7

Question ID : 65497831647
Status : Answered
Chosen Option : 1




Q.4 Select the option that is related to the third term in the same way as the second term is
related to the first term.

TANGY : GZMTB :: PRIEST : ?
Ans X 1. LIRVJIG

o 2. KIRVHG
X 3.KISVHG
X 4.KIRUHF

Question ID : 65497831663
Status : Answered
Chosen Option : 2

Q.5 Select the option in which the given figure is embedded (rotation is NOT allowed).

+

JL| P

Ans

Question ID : 65497831649
Status : Answered
Chosen Option : 1

Q.6 In acertain code language, KING is coded as 1012810131568. How will ROSE be coded
in that language?

Ans X 1. 17191614201864
X 2. 19171614192035
X 3. 17181416192056
o 4. 17191416182046

Question ID : 65497831655
Status : Answered
Chosen Option : 4




Q.7 Select the correct option that indicates the arrangement of the given words in the
order in which they appear in an English dictionary.

1. Power
2. Piece
3. Peace
4. Poem
5. Palm

Ans X 1.54,3,2,1
X 2.2,3,1,5,4
X 3.1,234,5
o 4.5324,1

Question ID : 65497831650
Status : Answered
Chosen Option : 4

Q.8 ‘Honey’ is related to ‘Bees’ in the same way as ‘Sugar’ is related to * .
Ans X 1.Cake

" 2. Sugarcane
X 3. Juicer
X 4.Sweet

Question ID : 65497831642
Status : Answered
Chosen Option : 2

Q.9 The sequence of folding a piece of paper and the manner in which the folded paper has been cut is shown in the
following figures. How would this paper look when unfolded?

; = =
Ans
vV
L AA
vV

:

AA
X2 DAA=
AA

i

vv
X3 DAAS

AA

iE

AA

vV

;

Question ID : 65497831662
Status : Answered
Chosen Option : 1




Q.10 Select the number from among the given options that can replace the question mark
(?) in the following series.

6, 8, 20, 50, 106, ?
Ans X 1.212
X 2.280

o 3.196
X 4.218

Question ID : 65497831656
Status : Answered
Chosen Option : 3

Q.11 Select the figure from among the given options that can replace the question mark (?) in the following series.

O OO O x
X O O

3
-~

Ans

X 1.

X 2.
x
[ 0O
X3
O x
o 4

Question ID : 65497831653
Status : Answered
Chosen Option : 4

Q.12 Atthe end of a conference, all the 30 people present shake hands with each other
once. How many handshakes will there be altogether?

Ans X 1.60
< 2.450
o 3.435
X< 4.300

Question ID : 65497831661
Status : Answered
Chosen Option : 2




Q13 A, B,CIRDTM® TRILATHET VAW TE RATTH dRINRT S TFI
trf‘:: B, A @IS T R D P Naoum F-MM=> .81 Mg, dic®H o

Question ID : 65497831643
Status : Answered

ch Onii -
CHOSE-OPHon=—x

Select the correct mirror image of the given figure when the mirror is placed to the right side of the figure.
Q.14

Ans

Question ID : 65497831657
Status : Answered

Ch Opii =4
CROSEN-OpHon-——=x

A cube is made by folding the given sheet. In the cube so formed, which number will be on the face opposite to the face
Q.15 having the number <7°?

Ans

Question ID : 65497831648
Status : Answered

n—-73

Ch Optio
CHOSEROPUHOR—=x




Q.16 Study the given pattern carefully and select the number that can replace the question
mark (?)in it.

101317
121172
160 185 235

Ans X 1.15
o 2.13
X 3.10
X 417

Question ID : 65497831660
Status : Answered
Chosen Option : 2

Q.17 Four letter-clusters have been given, out of which three are alike in some manner and
one is different. Select the letter-cluster that is different.

Ans o 177G
X 2.IDE
X 3.RDN
X 4.USB

Question ID : 65497831654
Status : Answered
Chosen Option : 1

Q.18 Identify the number that does NOT belong to the following series.
18, 27, 35, 45,54
Ans X 1.18
X 2.45
X 3.54
o 4.35

Question ID : 65497831652
Status : Answered
Chosen Option : 4




Q.19 Select the Venn diagram that best represents the relationship between the following classes.

Police, Males, Husbands
Ans

X 1.

X 4

080Q

Question ID : 65497831644
Status : Answered
Chosen Option : 3

Q.20 If Samaira is the daughter of my father's mother's only son, how is Samairarelated to
me?

Ans X 1. Mother
" 2. Sister
< 3. Niece
X 4. Daughter

Question ID : 65497831665
Status : Answered
Chosen Option : 2

Q.21 Read the given statements and conclusions carefully. Assuming that the information
given in the statements is true, even if it appears to be at variance with commonly
known facts, decide which of the given conclusions logically follow(s) from the
statements.

Statements:
All fruits are flowers.
Some fruits are kiwis.

Conclusions:
I. Some flowers are kiwis.
II. All kiwis are fruits.

Ans X 1.0nly conclusion Il follows.
< 2. Both conclusions | and Il follow.
2< 3. Neither conclusion I nor Il follows.

" 4. Only conclusion | follows.

Question ID : 65497831659
Status : Answered
Chosen Option : 4




Q.22 Select the combination of letters that when sequentially placed in the blanks of the
given series will complete the series.

BCB_BC_IB_BI
Ans X 1.BClI
X 2.BCC
X 3.CBI
« 4.1BC
Question ID : 65497831651

Status : Answered
Chosen Option : 4

Q.23 Six friends A, B, C, D, E and F, have different heights. A is taller than only C and E. B is
shorter than D but D is not the tallest among them. Who is the tallest among them all?

Ans X 1.C
X 2. E
X 3.A
o 4F
Question ID : 65497831645

Status : Answered
Chosen Option : 4

Q.24 In acertain code language, 'ORACLE' is written as 'HSVUXG' and 'DAVID' is written as
'BVJFB'. How will 'VIDEO' be written in that language?

Ans " 1.JFBGH
X 2.GFBJH
X 3.JFGBH
X 4.JBFGH

Question ID : 65497831658
Status : Answered
Chosen Option : 1

Q.25 Select the option that is related to the third number in the same way as the second
number is related to the first number.

6:216::8:7?
Ans X 1.64
X 2.154
X 3.1024
o 4.512

Question ID : 65497831646
Status : Answered
Chosen Option : 4

Section : Part B General Knolwedge and General Awareness



Q.1 \—:ﬂa-\—%gahaﬁwmA g 3R uT Rs5Ra® Dadavor & o107 ® si4gad)__ Par
EIGIE]

Ans o 1.9q f2dyo™ (zoology)
X 2. 394127 2@y~ (botany)
X 3. Eeusdl f2dy-™ (saurology)
X 4. 7=td f3ay-T (ethnology)
Question ID : 65497831674

Status : Answered
Chosen Option : 1

Q.2 Which state has the second-highest number of Lok Sabha seats, after Uttar Pradesh?
Ans X 1. Tamil Nadu

X 2. Andhra Pradesh
X 3.Bihar
" 4. Maharashtra

Question ID : 65497831667
Status : Answered
Chosen Option : 3

Q.3 Whois the author of the book ‘Exam Warriors’?
Ans X 1.Vikram Seth

X 2. Bibek Debroy
X 3. Abhishek Manu Singhvi
" 4. Narendra Modi

Question ID : 65497831680
Status : Answered
Chosen Option : 2

Q4 WyE FUT IR BIAT , WXUGI-R 3R & te Faror 3k waet #t 9,f> 5 sk @10
3 oTeauug U Y Pae Dayer aordt weaom; @ 4w W el ud
Ao T oga g ?
Ans X 1. SR fdy«™ (Cytology)
o 2. qif\ﬁff\ay T9 (Agronomy)
X 3. IRRITAT f2dy=T (Anatomy)
X 4. 919 £33y (Agrostology)
Question ID : 65497831677

Status : Answered
Chosen Option : 2

Q.5 Who among the following was appointed as Goodwill Ambassador of United Nations
Development Programme (UNDP) in September 20207

Ans & 1. YemiAlade
X 2. Michelle Obama
< 3.Padma Lakshmi
X 4. M. Nethra

Question ID : 65497831673
Status : Not Answered
Chosen Option : --




Q.6 As per Census 2011, which of the following states’ sex ratio is less than 900?
Ans o 1. Haryana

X 2.Assam
X 3.Jharkhand
X 4. Madhya Pradesh

Question ID : 65497831679
Status : Answered
Chosen Option : 1

Q.7 In which of the following years was the Hindu Widows' Remarriage Act enacted?
Ans 4" 1.1856

X 2.1890
X 3.1906
X 4.1934
Question ID : 65497831675
Status : Not Answered
Chosen Option : --
Q.8 Peoplein ancient India believed that when the ¢ ’ ritual was performed with the

help of Brahmanas, it led to the rebirth of the sacrificer as a Kshatriya, even if he was
not one by birth.

Ans X 1.Samavaj-tana
X 2. Upanayana
X 3. Medhajanana
" 4. Hiranya-garbha

Question ID : 65497831685
Status : Answered
Chosen Option : 4

Q.9 Forty years after disbanding, music group announced its return in September
2021.

Ans X 1.Rolling Stones

X 2.Eagles
X 3.Led Zeppelin

«" 4. ABBA
Question ID : 65497831690
Status : Not Answered
Chosen Option : --
Q10 g AFIuagd T gad Aot s & aa £ a1 oRT Wigwr e
TS d ATd §

Ans X 1.9ers (s fiam
o 2.3 TA( < TROEN)
X 3. @/ IS EH (W14 Ho=fA)
X 4. f29gad @4 (U9 ™ AfgT)
Question ID : 65497831682

Status : Answered
Chosen Option : 2




Q.11 The Open Erain tennis began in when the Grand Slam tournaments agreed
to allow professional players to compete with amateurs.

Ans X 1.1958
X 2.1948
«" 3.1968
X 4.1938

Question ID : 65497831669
Status : Not Answered
Chosen Option : --

Q.12 The Lebang Boomani Dance is part of the folk dance repertoire of which of these
Indian states?

Ans o 1. Tripura
X 2.0disha
X 3. Maharashtra
X 4.Kerala

Question ID : 65497831678
Status : Not Answered
Chosen Option : --

Q.13 amrf‘aru T?f‘sarf‘acﬁawﬁ?u TTf\S?If\Wf\S?R'cITﬂ? W R Y ATTT
I49 T T oTH PDaems T a1 wgami el

Ans o 1 UIfRAS-Daew
X 2. qmfo e foaer
X 3. gEIfes f33uRar
X 4. 3y Daem

Question ID : 65497831671
Status : Answered
Chosen Option : 1

Q.14 When is Women’s Entrepreneurship Day observed every year?
Ans X 1.10 October

«" 2. 19 November
X 3.25November
X 4.14 September

Question ID : 65497831676
Status : Not Answered
Chosen Option : --

Q.15 Which of the following is awarded to the coaches for producing medal winners at
prestigious international sports events?

Ans X 1. Dhyan Chand Award
«# 2. Dronacharya Award
X 3. Rajiv Gandhi Khel Ratna
X 4. Arjuna Award

Question ID : 65497831683
Status : Answered
Chosen Option : 2




Q.16 The 9th edition of the International Sand Art Festival was organised in December 2020
in:

Ans o 1. Odisha

< 2. Tamil Nadu

X 3. Maharashtra

X 4. Andhra Pradesh

Question ID : 65497831668
Status : Not Answered
Chosen Option : --

Q.17 How many pairs of chromosomes are present in human beings?
Ans o 1.23

X 2.26
X 3.19
X 4.22

Question ID : 65497831672
Status : Answered
Chosen Option : 1

Q.18 The National Sports University, Imphal is a central university established under an Act
passed in the year

Ans X 1.2014
" 2.2018
X 3.2015
X 4.2019

Question ID : 65497831689
Status : Not Answered
Chosen Option : --

Q.19 What is the percentage hike in defence expenditure in the Budget 2020-2021 as against
the allocation in the previous financial year?

Ans X 1.6.1%
X 2.4.3%
X 3.7.4%
o 4.5.8%

Question ID : 65497831666
Status : Answered
Chosen Option : 4

Q.20 In which of the following years was Sanchi declared as a UNESCO World Heritage
Site?

Ans o 1.1989
X 2.1999
X 3.1967
X 4.2014

Question ID : 65497831670
Status : Not Answered
Chosen Option : --




Q.21 In relation to banking, CTSis an acronym for
Ans 4 1. Cheque Truncation System

X 2. Corporate Trade Schedule
X 3. Credit Transfer Statement

X 4. Cash Transaction Scrutiny

Question ID : 65497831686
Status : Answered
Chosen Option : 3

Q.22 Who among the following persons led the '"No Tax Campaign' against the British after
the floods in Khera (Khaira/Kaira) in 19187

Ans X 1. Morarji Desai
X 2. Tribhuvandas Patel
X 3. Mahadev Desai
" 4. Vallabhbhai Patel

Question ID : 65497831688
Status : Answered
Chosen Option : 1

Q.23 In February 2020, the Board of the Reserve Bank of Indiarecommended that its
accounting year be changed from to April - March.

Ans X 1.September - August
X 2. January - December
X 3. October - September
& 4. July - June

Question ID : 65497831684
Status : Answered
Chosen Option : 4

Q.24 With which of the following games/sports is the William Jones Cup associated?
Ans X 1.Billiards

+«" 2. Basketball

X 3.Boxing
X 4. Cricket

Question ID : 65497831681
Status : Answered
Chosen Option : 1

Q.25 The empire was the first pan-Indian empire that covered most of the Indian
subcontinent.

Ans X 1.Chola
X 2.Kushan
" 3. Mauryan
X 4.Gupta
Question ID : 65497831687

Status : Not Answered
Chosen Option : --

Section : Part C Elementary Mathematics



Q.1 The ratio of two numbers x and y is 4 : 7. If 6 is added to x and 7 is subtracted from y , then their ratio becomes 3 : 4.
‘What is the difference between x and y ?

Ans x1. 36

X2 30

X3 24

v 4 27
Question ID : 65497831709

Status : Answered
Chosen Option : 4

Q-2 The curved surface area of a right circular cylinder of height 14 cm is 176 cm?. What is the area (in cm?) of the base of

the cylinder ? (Take = ? )

Ans
X 1. ﬁ

P 2, FESR

X3

Question ID : 65497831711
Status : Answered
Chosen Option : 4

Q.3 7 men can pack 14 boxes in 6 days by working for 7 hours a day. How many days will be required by 14 men to pack 18
boxes, if they work for 9 hours a day?

Ans X1 2
X25
X3 4
V43

Question ID : 65497831694
Status : Answered
Chosen Option : 4

Q4 If HCF of 328, 451 and 697 is x , then the value of x lies between:
Ans X1 44 and 48
+ 2. 40 and 44
X'3. 36 and 40
X 4. 48 and 52

Question ID : 65497831707
Status : Answered
Chosen Option : 2




Q.5 A sum amounts to 39,261 in 3 years at 5% per annum, interest compounded annually. What is the simple interest (in T)

3 .
on the same sum for 3 3 yeasat the same rate of interest?

Ans 1 %1,350
2. 1,500
3. T1,620
4. 1,560

Question ID : 65497831710
Status : Answered
Chosen Option : 2

Q.6 A sum of T10500 amounts to T12705 in 2 years at x % p.a., when the interest is compounded annually. The same sum

will amount (in T) to what at 2 x % p.a. in 1 % years, when interest compounded half yearly?

Ans X1 11297
X2 17395.75
+ 3. 13975.50
X 4. 19753.25

Question ID : 65497831697
Status : Answered
Chosen Option : 3

Q.7 Aperson travels equal distances at speeds of 3 km/h, 4 kinvh, 5 km/h and 6 km/h, and takes a total time of 3 hours 48
minutes. The total distance (in km) is:

AN 116
X2 4
X3 12
X420

Question ID : 65497831695
Status : Answered
Chosen Option : 2

Q.8 Pipes A, B and C can fill a tank in 10, 15 and 18 hours, respectively. A and C are opened for 5 hours, then only pipe A is
closed and B is opened at the same time (with C). The total time taken to fill the tank completely is:

Ans 2
X 1 3; hours

o 2. 6> hours
11

%3 52 hours
11

X 4 2% hours

Question ID : 65497831715
Status : Answered
Chosen Option : 2




Q9 Ifa sum of T644 is divided into three parts proportional to = 2 : ;3, then the first part will be:

2
Ans 13322

2. T168

3. 3280

4. 3186

Question ID : 65497831704
Status : Answered
Chosen Option : 2

Q.10 The surface areas of three coterminous faces of a cuboid are 5 cm?, 16 cm? and 20 cm? respectively. Find the volume
of the cuboid.

Ans X1 45 cm?
X2 50 cm?
X3 30 cm?
4 40 cm?

Question ID : 65497831705
Status : Answered
Chosen Option : 4

Q.11 Radha saves 28% of her income. If her expenditure increases by 25% and savings increase by 30%, then by what
percentage will her income increase?

Ans X1 27.6%
2. 26.4%
X3 27%
X4 25%

Question ID : 65497831708
Status : Answered
Chosen Option : 2

Q.12 A shopkeeper decides to sell a certain item at a certain price. He tags the price on the item by increasing the decided
price by 45%. While selling the item, he offers 40% discount. Find how much more or less he gets on the decided price.

Ans 1. 87 less
2. 13 less
3. 87 more
4. Z13 more
Question ID : 65497831706

Status : Answered
Chosen Option : 2




Q.13 The average of 37 numbers is 49. The average of the first 21 numbers is 43.8 and that of the last 17 numbers is 55.6. If

the 21" number is excluded, then what is the average of the remaining numbers (correct to one decimal place)?

Ans X1 53.5

+ 2. 489

X3 49.7

X4 476
Question ID : 65497831691

Status : Answered
Chosen Option : 2

Q.14 Vimala took a loan of ¥7,200 on simple interest for as many years as the rate of interest. If she paid ¥5,832 as interest at
the end of the loan period. then the rate of interest is:

Ans X1 8.5%
2. 9%
X3 12%
X 4. 8%
Question ID : 65497831701

Status : Answered
Chosen Option : 2

Q.15 Findthevalueof9ﬁ+§of(6§+3§)_(%_,_é)_
Ans 1]

X2 3

X3 10

X4 5

Question ID : 65497831702
Status : Answered
Chosen Option : 1

Q.16 The LCM of two positive numbers is 13 times their HCF. The sum of HCF and LCM is 252. If one number is 54, then
the other number is:

Ans X173
2 78
X3 68
X4 63
Question ID : 65497831698

Status : Answered
Chosen Option : 2




Q.17 Reema sold a suit at a profit of 10.5%. If she had sold it for T70 more, then the profit would have been 14%. The initial
selling price (in ) of the suit is:

Ans 1. 2,350
2. 2.140
3. 2,210
4. 2,280
Question ID : 65497831696

Status : Answered
Chosen Option : 3

Q_ 18 Out of six numbers A, B, C, D, E and F. the average of first five numbers A. B, C, D and E is greater than the average of
last five numbers B, C, D. E and F by 26. The difference between A and F is:

Ans 1. 130
X2 125
X 3. 140
X4 120

Question ID : 65497831699
Status : Answered
Chosen Option : 1

Q19 Thevalueof 72 + 16 0f 3 - [28 + 60f 420 = 7 X (23 - 37) - 41] X 1
Ans X1, |

X 2

AR
; w
Bl NIlw oo

Question ID : 65497831713
Status : Answered
Chosen Option : 4

Q.20 Ina college election, Seema and Geeta got the votes in the ratio of 4 : 5 of the total valid votes. If 19% are invalid votes
out of 15000 votes, then the difference of the votes polled in favour of Seema and Geeta is:

Ans X1 1500
X2 1150
X 3. 1800
« 4. 1350

Question ID : 65497831693
Status : Answered
Chosen Option : 4




Q.21 Ravi gains 12.5% by selling an article for T157.50. If he sells it for T147, then what is his loss/gain percentage?

Ans - X'1. Loss 5%
+ 2. Gain 5%
X 3. Gain 10.5%
X 4 Loss 10.5%

Question ID : 65497831714
Status : Answered
Chosen Option : 2

Q.22 Madhu bought 35 kg of sugar for T1,470. She sold it at a loss equal to the selling price of 5 kg of it. What is the selling
price (in ) of 8 kg of sugar?

Ans X1 206
X 2. 288
X 3. 300
&4 294

Question ID : 65497831712
Status : Answered
Chosen Option : 2

Q.23 Atrain travels from place A to place B at a speed of 90 km/h and returns at a speed of 75 kmvh. If it takes a total time of

142 hours, the distance between the places A and B is:
Ans 1 600 km
X 2. 560 km
X' 3. 620 km
X 4. 580 km
Question ID : 65497831703

Status : Answered
Chosen Option : 1

Q.24 Avreduction of 122 % in the price of wheat enables a person to buy 2% kg more for ¥280. Initially, how much wheat (in
kg) was the person able to buy?

Ans X115
X2 125
3 175
X4 20

Question ID : 65497831692
Status : Answered
Chosen Option : 3




Q.25 A sum of %950 is divided among A, B and C such that A gets % of B's share and C gets 75% of A's share. The share of C
is:

Ans X 1. %160
X 2. 3250
v 3 %180
X 43280

Question ID : 65497831700
Status : Answered
Chosen Option : 3

Section : Part D English

Q.1 Select the most appropriate option to fill in the blank.
Radha was extremely about the welfare of her parents.
Ans X 1.impatient
X 2. eager
X 3.intense

* 4. anxious

Question ID : 65497831721
Status : Answered
Chosen Option : 4

Q.2 Select the most appropriate ANTONYM of the given word.

Defend
Ans 4 1. Abandon
X 2. Tarnish
X 3. Adjourn
X 4.Derange

Question ID : 65497831718
Status : Answered
Chosen Option : 2

Q.3 Select the most appropriate option that can substitute the underlined segment in the
given sentence. If there is no need to substitute it, select ‘No substitution required’.

All the mangoes is sweet; you should try one.
Ans  * 1. All the mangoes are sweet

< 2. No substitution required
X 3. All mangoes sweet

X 4. All the mangoes sweet

Question ID : 65497831729
Status : Answered
Chosen Option : 1




Q.4 Select the most appropriate option to fill in the blank.
If you do not return my money, | will you to court.
Ans X 1.push
X 2. lift
X 3.carry
" 4. drag

Question ID : 65497831731
Status : Answered
Chosen Option : 4

Q.5 The following sentence has been splitinto four segments. Identify the segment that
contains a grammatical error.

These children / are attended / yoga classes /regularly.
Ans X 1.yoga classes
X 2.regularly
X 3.These children
" 4. are attended

Question ID : 65497831726
Status : Answered
Chosen Option : 4

Q.6 Select the most appropriate ANTONYM of the given word.

Petty
Ans X 1.Quick
X 2. Dull
" 3. Big
X 4. Light

Question ID : 65497831723
Status : Answered
Chosen Option : 3

Q.7 The following sentence has been divided into parts. One of them contains an error.
Select the part that contains the error from the given options.

Neither the guests / nor the host / were dressed appropriately / for the party.
Ans X 1. Neither the guests
" 2. were dressed appropriately
< 3. nor the host
X 4. forthe party

Question ID : 65497831722
Status : Answered
Chosen Option : 2




Q.8 Select the most appropriate option that can substitute the underlined word in the
given sentence.

The Maldives is one of the few places in the world where ancient pleasure can be
derived from doing nothing.

Ans X 1.curt
X 2. bustling

¥ 3. tremendous

X 4. prosperous

Question ID : 65497831717
Status : Answered
Chosen Option : 3

Q.9 Selectthe INCORRECTLY spelt word.
Ans X 1. Sumptuous

X 2. Prosperous
" 3. Pretious

X 4.Pompous

Question ID : 65497831725
Status : Answered
Chosen Option : 1

Q.10 Select the most appropriate synonym of the given word.
Marvellous
Ans X 1.Dangerous
X 2. Childish
¥ 3. Wonderful

X 4. Innocent

Question ID : 65497831727
Status : Answered
Chosen Option : 3

Q.11 The following sentence has been split into four segments. Identify the segment that
contains a grammatical error.

Plants that grow / in deserts / do not requires / much water.
Ans  «# 1. donotrequires
< 2. much water
X 3.indeserts
X 4. Plants that grow

Question ID : 65497831733
Status : Answered
Chosen Option : 1




Q.12 Select the option that can be used as a one-word substitute for the given group of
words.

One who travels on foot
Ans X 1. Visitor
X 2. Traveller
X 3. Tourist
" 4. Pedestrian

Question ID : 65497831724
Status : Answered
Chosen Option : 4

Q.13 Select the option that can be used as a one-word substitute for the given group of
words.

A cage for keeping rabbits
Ans o 1. Huich
X 2. Lair
X 3. Apiary
X 4.Kennel

Question ID : 65497831735
Status : Answered
Chosen Option : 3

Q.14 Select the option that can be used as a one-word substitute for the given group of
words.

A spider’s home
Ans X 1.Hole
X 2.Den
" 3. Cobweb
X 4. Hive

Question ID : 65497831716
Status : Answered
Chosen Option : 4

Q.15 Selectthe INCORRECTLY spelt word.
Ans X 1.Drainage

X 2. Opening
X 3. Spoonful
«" 4. Vegeteble

Question ID : 65497831720
Status : Answered
Chosen Option : 4




Q.16 Select the most appropriate meaning of the given idiom.

Not breathe a word
Ans X 1. To be quiet not knowing what to say

< 2. To be quiet because you are angry
X 3. To decide not to ta k to someone

" 4. To remain silent about some secret

Question ID : 65497831730
Status : Answered
Chosen Option : 1

Q.17 Select the most appropriate meaning of the given idiom.
To give up the ghost
Ans X 1. To pretend to be a ghost
X 2. To scare away a ghost
«# 3. To stop working
X 4. To speak lies

Question ID : 65497831728
Status : Answered
Chosen Option : 3

Q.18 Select the most appropriate SYNONYM of the given word.

Choke
Ans X 1.Hack

" 2. Block
X 3.Slash
X 4.Chop

Question ID : 65497831734
Status : Answered
Chosen Option : 2

Q.19 Select the most appropriate option to fill in the blank.

Social distancing should be practiced in

with other everyday preventive
actions.

Ans X 1. comprehension
X 2. understanding
X 3. arrangement

" 4. combination

Question ID : 65497831719
Status : Answered
Chosen Option : 1




Q.20 Select the option that will improve the underlined part of the given sentence. In case
no improvement is needed, select 'No improvement required'.

Please walk carefully unless you should hurt yourself.

Ans  «# 1. or you might
X 2.Noimprovement required
< 3. unless you will

X 4.soyou should

Question ID : 65497831732
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Consumption of junk and fast food is the main (1) of obesity in teenagers. Large intake
of high-calorie and low-nutrient food leads to (2) weight gain. A number of health
issues arise out of it. Obesity can also result in (3) problems like low self-esteem and
low confidence. It can also lead to laziness and in activeness among teens. Junk food and
soft drinks should be (4) with lots of fruits, vegetables and whole grains in the diet. The
best way to control obesity is to do (5) physical exercise.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank no. 1.
Ans X 1.result

X 2. effect
& 3.cause
X 4. event

Question ID : 65497831737
Status : Answered
Chosen Option : 3

-
Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Consumption of junk and fast food is the main (1) of obesity in teenagers. Large intake
of high-calorie and low-nutrient food leads to (2) weight gain. A number of health
issues arise out of it. Obesity can also result in (3) problems like low self-esteem and
low confidence. It can also lead to laziness and in activeness among teens. Junk food and
soft drinks should be (4) with lots of fruits, vegetables and whole grains in the diet. The
best way to control obesity is to do (5) physical exercise.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank no. 2.
Ans X 1.insignificant

& 2. unnecessary
X 3.irrelevant

X 4.necessary

Question ID : 65497831738
Status : Answered
Chosen Option : 2




Comprehension:

select the most appropriate option to fill in each blank.

Consumption of junk and fast food is the main (1)
of high-calorie and low-nutrient food leads to (2)
issues arise out of it. Obesity can also result in (3)

soft drinks should be (4)
best way to control obesity is to do (5)

SubQuestion No : 23

Ans X 1.physiological
«# 2. psychological
X 3. political

X 4. mental

Comprehension:

select the most appropriate option to fill in each blank.

Consumption of junk and fast food is the main (1)
of high-calorie and low-nutrient food leads to (2)
issues arise out of it. Obesity can also result in (3)

In the following passage, some words have been deleted. Read the passage carefully and

of obesity in teenagers. Large intake
weight gain. A number of health
problems like low self-esteem and

low confidence. It can also lead to laziness and in activeness among teens. Junk food and
with lots of fruits, vegetables and whole grains in the diet. The
physical exercise.

Q.23 Select the most appropriate option to fill in blank no. 3.

Question ID : 65497831739

Status : Answered

Chosen Option : 2

In the following passage, some words have been deleted. Read the passage carefully and

of obesity in teenagers. Large intake
weight gain. A number of health
problems like low self-esteem and

low confidence. It can also lead to laziness and in activeness among teens. Junk food and
soft drinks should be (4) with lots of fruits, vegetables and whole grains in the diet. The
best way to control obesity is to do (5) physical exercise.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank no. 4.
X 1. altered

X 2.exchanged
X 3. placed
¥ 4. substituted

Ans

Question ID : 65497831740
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

Consumption of junk and fast food is the main (1)
of high-calorie and low-nutrient food leads to (2) weight gain. A number of health
issues arise out of it. Obesity can also result in (3) problems like low self-esteem and
low confidence. It can also lead to laziness and in activeness among teens. Junk food and
soft drinks should be (4) with lots of fruits, vegetables and whole grains in the diet. The
best way to control obesity is to do (5) physical exercise.

of obesity in teenagers. Large intake

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank no. 5.

Ans X 1.unsystematic

X 2.formal

o 3.regular
X 4.irregular

Question ID : 65497831741
Status : Answered
Chosen Option : 3




Section : Part D Hindi

Q1 I W ANE T =TI ® FALTH
T E::ﬁ'ﬂT- Ans o 1. 31 <=Td

X2 KIGGILI
X 3.3 <=TH®
X 4.3 nTdl

Question ID : 65497831761
Status : Not Answered
Chosen Option : --

Q2 figumga AT @ NwaEs® Doy lmmeT @ uwaew w4 faw
FragT Y aANE g Dasyoud s @) sasar T8 g, d Pae Fod
TEA-Td Pt ATTAFAT Tl 8 BT IGT DR |
39 31 Fed 8l

Ans X' 1. %

2.8
X 3. Pyl 9gd.1a &1 3MgAHd T8 80 |
X a®

Question ID : 65497831754
Status : Not Answered
Chosen Option : --

Q3 f@@mMa ¥ Pewumarfed?
#E TGN ETE |
Ans X 1.7
X 2.9@
X 3.7
o 4.9

Question ID : 65497831757
Status : Not Answered
Chosen Option : --

Q4 IJfad HIGAFHNTCNTT W 5 @R FTIY DA FRATE |

W B YT G SRR
Ans X 1.AHD 3YAWR
gifeT
X 2. 3wy Hog
X 3B I¥ AT o1
LRIV DG FHSA

Question ID : 65497831752
Status : Not Answered
Chosen Option : --




Q.5 g are ¥ Warfea @e & ufonfia #3= & fore v Suged fAwen o1 3- +31
uﬁg@uﬁwﬁaﬁ B B AARGHAT T8l &, A vy Tt agama ot sravgear @ &
BT I Y|

Hiar it gy TEH? w o w3
Ans 1 Tiar S HEAS
X 2 il & qEds
X 3. ot agaa @t savadmar e &
X 4 Far e gEds

Question ID : 65497831743
Status : Not Answered
Chosen Option : —

Q.6 o M e F o ve wsg o
St wroft S W YEaT 8
Ans X | 9HR
o 2. UaWR
X 3. 9w
X 4. S

Question ID : 65497831751
Status : Not Answered
Chosen Option : —

Q.7 | Tt 9Tt R BT I BN
Ans X 1.H<dg

& 2. 9q

X 3.5

X 4.9

Question ID : 65497831747
Status : Not Answered
Chosen Option : -

Q8 YT aren & fpw urmH 3fe &2
A e - W v T @2
Ans X 1 UAfHud
X 2. Tmg?
¢ 3 TR
X 4 faan

Question ID : 65497831759
Status : Not Answered
Chosen Option : -




Q.9 fRu e arey # YEfed @e FI ufawiiiia $v1 & fre wed Suge fawer &1 agq3 31
Tfe TR vfrenfia 37 &Y siaxasar 781 8, 9 R 5t agae 3t sawsar T8 &

BT T BN
HTIRIT ST & U TEH & PR3 BT el For |
Ans X 1 % G- & BRUI I aHI Tel el
2. 0K T & BRI GHR Tl e
X 3. K W@d S SR Y DI 6l fHa
X 4. Tt 9caE & sravaddl el g

Question ID : 65497831746
Status : Not Answered
Chosen Option : -
Q.10 e o1 faem e gm-
Ans X 1 [Apq
2. Uhd
X 3. 0P
X 4 3HBA
Question ID : 65497831760
Status : Not Answered
Chosen Option : —
Q11 fraa ®IF F1 gfel F forg wadt Suged W= &1 997 Sl
geTda A § T
Ans 1 33
X 2.3®
X 3.8
X 4.d9d
Question ID : 65497831742
Status : Not Answered
Chosen Option : —
Q.12 [t Tt 91 g BT 99 B
Ans x 1 Hifay
2. FfHEy
X 3. FfAEw
X 4 Ay
Question ID : 65497831748
Status : Not Answered

Chosen Option :




Q.13 fyaa =M 91 gfe F forg e Suged e &1 9= 31
WHIWATFTAS __ HI

Ans X 1. Tdl

X 2. 3@l

X 3. %v0n

4. PUl

Question ID : 65497831756
Status : Not Answered
Chosen Option : —

Q.14 g g wreg &1 e 971
Sufarad
Ans X 1 wWiafad
X 2 ydfefed
X 3. WfdRad
4. FgiciEd

Question ID : 65497831749
Status : Not Answered
Chosen Option : —

Q.15 fyaa =M ¥t gfe F forg e Suged fAwe &1 9= 31
S T § SUST 6eA &) S 81
Ans X 174
& 2. T8
X 3.7Ra
X 4. 9WA

Question ID : 65497831755
Status : Not Answered
Chosen Option : -

Q.16 13T 1T W & FAFATH Weg BT T4 BHQI
Tda
Ans  p 1 T
X2y
X3
XagH

Question ID : 65497831745
Status : Not Answered
Chosen Option : —




Q.17 39 ey o1 997 i S e geray o1 ol srea FRar 21
S F BRT @
Ans X | B GUE B AT
X 2.%:%E Ted 9l
o 3. aRgdl H 3 e
X 4 TS B AR BT

Question ID : 65497831750
Status : Not Answered
Chosen Option : —

Q.18 IR PT WG4 2-
Ans X 1.91Gd

X 2.99%

3. e

X 4. Fd

Question ID : 65497831758
Status : Not Answered
Chosen Option : —

Q.19 T3 7 areaT ¥ R ve v AR
e - s g A @
Ans X 1 3|
X 2. 3ieHd
3. Sifgdiy
X 4.9Fd

Question ID : 65497831753
Status : Not Answered
Chosen Option : -

Q.20 mga;;ragmmﬁmﬁ%i&%mﬁﬁﬁﬂﬁiﬁﬁﬁﬁ

farenfifay 3 wurwEh @1 sifiFe-um sffa
Ans X 1. GuFEEA &

P ACE DS
3. e 3iffa &1
X 4 BRI

Question ID : 65497831744
Status : Not Answered
Chosen Option : -




Comprehension:

TEpId DI 91 SR ifeafad derl & Hregd U Bl & 3R HRA Sl b1 58 (1) sfbds
RN DI Hererd HRmST  (2) ¢! f931 Yadl | Sgd UrdiF ®Ia 3, T el dT
YU YR (3) W g1 4TI URUFRGEY MR - Hell Bl (4) gonll fbg a8
YR § few T8l 9!, Fifd dg SR Jf, difh URd @1 (5) 30 3l 3q BT daT &
iR ¥ gad 8! HR g A

79 Uil & IR IWIad T & SHTYR W G|
SubQuestion No : 21

Q.21 e & fYed ®IF (1) & forg waffiue Suged v Srm-
Ans X 1 QY

 2.aYE

X 3. @R

X 4.9M@

Question ID : 65497831763
Status : Not Answered
Chosen Option : -

Comprehension:

TEHia B 91 SR Siftyeaiad e & AIeH W Bidl & iR HRA dHal &1 98 (1) sfbag
R DI e HRHST  (2) 8! f9a1 Gavdll | Sgd UrdiF ®Ial 3, A el ol
YU YR (3) W g1 4TI URUFRGEY MR - &l BT (4) golll fbg a8
YRA ¥ @ T8l 9o, i dg SruRd i, Fife URd @t (5) 30 &I 39 Af¥a T &
iR 9 oaad 181 o) gt 4|

g U & IR IWIGd TR & YR R o]

SubQuestion No : 22
Q.22 Ty F fYea wIF (2) & fore waifie Suged e 2mm-
Ans 1 THGH

X 2. Haeid
X 3. e
X 4. 39T

Question ID : 65497831764
Status : Not Answered
Chosen Option : -

Comprehension:

TEHid @ 91 SR Siftyaafad dell & AIeH W Bidl & SR MR &Hal &1 98 (1) sfbag
TR DI e YRS (2) 1 f9aT Gadl | Sgd UrdiF ®Ia 3, T el dT

T YR (3) Y g1 YT | URUIFRGEY MR - el BT (4) golll fbg ag
YRA ¥ @ 6l 9o, Fife dg SruRd off, Fife URd @1 (5) 30 &I 39 Al T &
iR 9 oaad T8 o) gl At

5 Ul & IR IWIad T & YR W ol
SubQuestion No : 23
Q.23 e ¥ fa R (3) ¥ forg walfie Suges v drm-
Ans o 1.5
X299
X 3. 9id
X 4 Pfadr

Question ID : 65497831765
Status : Not Answered
Chosen Option : -




Q.24
Ans

Comprehension:

TEHia @ 1 SR siftieafad dar & Arer U gidl & Sk HRA &dl &1 38 (1) gfvas
TR DI Herrerd HFmSet F (2) 2 f93T Yavdt | Sgd UrdiA ®Ia 8, T dall BT
TRTYUT YR (3) W g1 41| URUFRGEY MYR - el Bl (4) gorm fbg ag
HRd | 0 761 9, i dg srHRd 4, Fifds 4R @ (5) U DI 34 i der &
iR 9 gad 2 H adbdt A

99 Ul & IR IWRIed T & SYR W o
SubQuestion No : 24
T & e ®IF (4) ¥ o waifie suge o 8-
o 1.9
X 2. 3uUH
X 3. 3fifdspR
X4 @9

Question ID : 65497831766
Status : Not Answered
Chosen Option : -

Comprehension:

TEHia @ 51 SR Siftieafad dar & ATe U gidl 8 SR HRA &dl &1 38 (1) gfdhag
TR DI e HFmst F (2) 2 faaT Gavdl | Sgd UrdiF ®ra 8, T bl BT
TRTYUT YR (3) W g1 41| URUFRGEY MYR - dell Bl (4) gorm fbg ag
HRA | b 761 9, i dg srHReda 6, difds yRd 3 (5) U BI 34 Ffid dar &
iR ¥ gad 8 X wdb A

19 Ul & IR IWIGd TR & YR R Sifoig)
SubQuestion No : 25

Q.25 Tremrer ¥ fae R (5) ¥ g waifie Suged =g Em-

Ans

X 1. faar
X 2. g1
X 3. GRAA
4. 3

Question ID : 65497831767
Status : Not Answered
Chosen Option : -




